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‘Section — A | [20 x 1 =20] CO(s) K-
Answer ALL the Questions i ' I‘Jevel
1. Which shell is the default shell used on Linux system? COl K1
[a] csh [b] sh [c]bash  [d] tesh
2. Which command displays a listing of previously eﬁtered'commands? COl1 K1
[a] Commands [b] review [c] history | [d] export
i Which command is used to display the unix version | CO1 | K1
[a] uname-r [b] uname-n -. [c]. unamé-t ~ [d] kernel
4. Which command changes a file’s group owner? COl K1
[a] Cgrp \ [b] chgrp [c] change [d] group
5 The range of unsigned integer numbers will be from . CO2 K1
[a] 1 to 65,535 - [b] 1 to 65,536.
[c] 0 to 65,536 [d] 0to 65,535 :
6. A conditional operator pair is available in C to construct | (Z;OZ \ K1
conditional expressions, | '
[a] :? ] = [c] %: [d] =2
7. The statement is a powerful decision-making statement and is used CO2 K1
to control the flow of execution of statements. '
[a] Switch [b]goto [e]if = . | [d] conditional
8. When wé known in advanc i : operater
e exactly how many times the loop will be CcO2 K1
executed, weusea___ controlled loop.
[a] counter [b] sentinel [c] sequential [d] entry



10.

12.

13.

14.

16.

17.

19.

integ used as a
An expression that evaluates to an integral yalue may be

[a] array name [b] array element [c] subscript [d] superscript

- variables cannot be used with the assignment operator.

[a] String [b] Char [c] Integer  [d] Float
The default return data type of a function is :
[a] char {b] float [¢] double [d] int
A function can be and placed before the main fu'nption.
[a] defined [b] initialized [c] call [d] declaration
In , each member has its own storage location.
" [a] structures  [b] function [¢] union [d] array

Each data item is known as structure

[a] variable [b] data type [c] member  [d] constant

which operator connects the structure name to its member name?

[a] - [b] <- [c]. [d] both b and ¢
Which of the following canuot‘be a structure meﬁber?
[a] Another structure [b] function
[c] array [d] member

: can be used to access and manipulate data stored in the
memory. ’ ‘

[a] Variables

[b] Pointers [c] Daia

[d] Value

Pointers cannot be us v
sed as :
— _ parameters in hea .
definitions. ders to-function

[b] actual

[a] formal |
| “[c] global [d] local
The function getchar and '
putchar funct;
o nctlon; and handle character at 3
[] string b two/ /
[b] [¢] zero [d] one

Co3

Co3

Co3

CO3

Co4

CO4

CO4

CO4

CO5

CO5

CO5

Kl), The getc is used to read a character from a file that has been ‘opened in
mode. '
[a] write [b] appénd [c] read [d] open
K ., Section—B . [5x6=30]

Answer ALL the Questions .

3

' Klz'l,;,) Illustrate the process states in Linux.
[OR]
K221'b) List File attributes in Linux.

32.2) Describe data types in ANSIC.
| [OR]

Klypp)  Compare while and do...while statements.

I(223.a) - Explain the multidimensional array with example.
[OR]

23.b) Develop-a C program using stremp() and strepy() functions.

What is structure? How does structure differ from union?
[OR]

re to function with example

K224.9)

K2*24.b) Explain how to pass structu
Demonstrate the syntax of closing a file.

3

125.2)
[OR]
125.b) List the bésic operation of the file. 4
3 : Section— C [5x 10 =50]
Answer ALL the Questions
26.8) Describe the components of Linux system.
K2 [OR]
"~ 26b) Explain all the IO redirection commands in Linux.
: v2.7.'a) Define the relational and logical operat<_)rs. with examples.
A | [OR]
27b) Illustrate the Switch statement with example.
28.a)  Construct C program for call by value and call by reference.
[OR]
28.b) Describe actual parameters and formal parameters with examples.

COs5

CO(s)

Col -

Co1
Cco2

Cco2

COo3

CO3
CO4

CO4
COs5

Cos
CO(s)

COl1

COl

Cco2

CcO2
CO3

CO3

K2

Level
K2’

K1
K1

K2 -

K2
K3

K3

K1

Level
K3

<



29.3)

- 29b)
© 30.a)

-30.b)

Demonstrate union

with example.
[OR]

Construct nested structures with example.

Explain about the reading and writing strin
[OR]

Illustrate file and mode of operations. .

g form /to a file.

COq

Co4
COs

Cos
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‘Section — A [20 x 1 =20] K-
. : CO(s) A
o * Answer ALL the Questions _ Level
L. Wh1ch charactenstlcs of computer dlStlngUISheS it from electromc COl Kl
calculation? ' '
‘[a] Accuracy [b] Storage [c] Versatlhty [d]Automatic
2. The first computers were programmed using . COl K1
[a] Assembly Language [b] Machine Language
[c] Source Code ‘ [d] Object Code
3. Which of the following statement is true? . : v Co1 K2

., [a] Minicomputer works faster -than Microcomputer
Tb] Microcomputer works faster than Minicomputer
[c] Speed of both the computer is the-same
[d] The speed of both these computers cannot be compared with the speed of

advanced _
4. Computers operates essentially by countmg , . Col1 K1
" [a] Portable Computer : [b] Hybrld Computer
[c] Analog Computer [d] Digital Computer
5. | The brain of any computer system is . ' cO2 K1
. [a] ALU [b] CPU [c] None of above [d] Memory -
6. ,Which of the following is valid storage types? C0O2 K1
| [2]CPU  [b] Keyboard  [c] Pen drive [d] Track Ball |
7. Which of the following is the valid measurement unit of memory? Cco2 K
[(]JGB [b]MB [c] KB [d] ALL
8. - . The CPU and memory are located on the ' : | COo2 K1
[a] Expansion Board ’ [b] Mother Board
[c] Storage Device - [d]Output Device



: o ical user ‘
. 3 inting device 1 @ Graphical user _
9. Which device is used as the standard poin . £ . . CO3 | 20. IP address is currently
— ‘ COs K2
. ? g .
Environment? — [a] 4 Bytes long [b] Available in plenty '
[a] Keyboard (d) Track ball S [c] 6 bytes long [d] Not assigned as it is all used up
[c] Joystick _ ' e Section—B 5x6= -
: d in character to code 03 [5x 6 =30] K-
10. Keyboard converts typed In € ) ] Answer ALL the Questi CO(s) -
: ASCII [c] Decimal [d] Binary - ' . = Level
[a] EBCIDIC  [b] o s ) « 21.a) Describe the characteristics of a computer col Kl
11. Which of the following devices can be used to diversity image printed text? COo3 - | » —- - . ‘
: d] All of above . _ \ )
[aJOCR [b] OMR [c] MICR [ ]. (') ’ 21.b) Compare the microcomputer and minicomputer col K2
12. - Printer is the cheapest in terms of price and operating CC"SL €03 34) Describe the Computer memory o Kl
[a] Inkjet [b] Laser [c] Thermal [d] Dot Matrix - : [OR]
13.  Software required to run the hardware is known as CQ4’ ' QZ.b) Syminarize the factors affecting processor speed co2 K2
[a] Joystick [b] Task Manager 23.2) Classify the printer with examples co3 K2
[c] Task Bar [d] Device Driver } ‘ [OR]
& ) 3 .f23.b) Explain the Web Cams with diagrams CcOo3 K2
14. Consists of set of instruction - A - co4 §24.a) Describe the Software categories with examples Cco4 Ki
[a] Software [b] Hardware [c] Program [d] None of this j . [OR]
15. What is system software? ‘ : co4 ql4.b) Compare the compilers and interpreters CO4 K2
. b { ¢ . . .
[a] Word Processing | [b,] Program Language . ST _:ZS.a) Summarize the evolution of internet COs5 K2
[c] Graphics [d] Browser . ) v y : : [OR]
16.  Operating system is . co4 I<25.b) Write about various network topologies. - : _ CO5 K3
? " [a] Hardware ‘ Section — C (5x10=50 “. o K-
[b] Softw . _ Answer ALL the Questions - Level
] Software which manage resources of the system '6.a) Describe the anatomy of the computer with examples Ccol Kl
[c] Software which performs computation : ' ‘ [OR]
~ [d] None 6.b) Classify the digital computer systems colr K2
17.  Any orgaguﬁon’s‘mjﬁal web page is known as ﬁ o Cco5 ' '§7.a) Describe the working of CPU and rﬁemory co2 Kl
Porta T g .
s (2] Portal .[b] Frontpage [c] Home page [d] Webpage ' [OR]
a A web page is located using a CO5 " K7.b) * Explain the Random Access Memory with examples coz K2
[a] Universal Record Linking  [b] Universal Resource Locater o 8.a) List out the Input devices with examples. co3 Kl
[c] Universal Record Locater [d] Uni ‘ [OR]
Universal st . ! . . ;
niversal Reachable Linking - 8:b) Summarize the working principles of system voice recognition. ' .603- K2 -
19. HTML '9.a) Explain the hardware and software interaction . co4 K2
- documents stored in the file in the form : K [OR] :
[a] .hxm - [b] .html or htm [c] hm - Co5 9b) Classify the software with examples co4 . K2
) [d] hml ' . ‘D.a) Illustrate the‘types of network . _ i Co5 K2
[OR]
~ cos K3

).b) Construct web pages using HTML with examples
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1

Section— A [20x1=20] COE)

‘ AnswerALL theQuestions
Self discipline is like a ............... CO1
[a] Muscle  [b] Good faith [c] Personality [d] Initiative
S QUPEELD @ - evnevnernanren . ;o
[a] sews - [b] Q;Gvevg;wl_ﬂsms [c]l @peww - [d] wwbd
........... is the capacity to sug ge‘st or make an unbiased and impértial | COl1

conclusion on an issue or a problem. : S

[a] Wisdom  [b] Education [c] Family,  [d] None of the above
- LgEfemer owg Ursfamerile) @bLSSFFTILDD ,

WODID USSFFTIUDD Wyma UfBS®ISGL AHOWG T0%GLD Smerr

sl
[a] @rems [b] sawad [d] g@wus  [d] Gm.mamfn_mau ﬂg[muﬂwmw ‘

............. means feeling of pity for the suffering of others. . COl1
[a] Wisdom  [b] Compassion [c] Discipline [d] Angry '

.......... SISILGI LopDeufselal FIGTUESE@5S%E URSTULILIGGUS! a;@m

[a] @prewid [b] @rssw . [c] @upsss  [d] Gemu

-----------

people. .
[a] Wisdom  [b] Courage [c] Honesty [d] discipline

aRronmmess n w0 erarpmed GphenLn, n_ammwggmmu), LD& SN GT SAUDTS mgﬂ

means fairness, and truthfulness, and the avoidance of misleading . CO1

. BLggiumss safliLiLgl QG

[a] @srams  [b] wsfws  [c] Gpievwo [d] DYoL

........... means “path that one can follow to achieve the spiritual goal of life. ~ CO2
[a] Yoga [b] Karma  [c] Soul [d]'Self confidence
mngpa;ma;uf)m%ml.ﬁs @w&Eemns e w @ LNGTLDDS Fnlgll .........

LBarser” Lmens.

[a] Gurasn  [b] sjwr  [c] cg,gum [d] SetreurLoLl s 6meb

s e Sikhs are prohibited from worshipping idols, images or icons COo2
[a] Worship  [b] Conference [c] Soul ~  [d] None of the above

s

K-
Level
K1

- K2

K1 |

K2

K1

K2




Hewev @l

................ oreui. .
easvwasmwmsﬁ"‘"”c;u[z]“i;wn [d] GuopsairL el e15/0{Lhlev :
b LomBIT : ' B
[a] aufr® [ - co2 g
The founder of Sikhism Was ----*""’[;] Sri Atavidar
. [a] Shri Guru Nanak [d] Nore of the above
[c] Swami Vivekannda
: : foneeeme
?}Zwmﬁwm [b] ysiradss
a| LSOBBT s e Llev a6V
[c] sauTdaGauspsT [d] (B,_D‘,Dg,'m.l_mﬂlﬂélﬂl ‘ .
i ) T : 1 CcO2 K2
............ is the basic whish clear and comprehensive princ iple is e?(pressed n |
the gospel by the worlds. - L .
[a] éhrlstlan [b] Jainism [c] Buddhlsm [d] None of the above
_____________ TRTUS LY LILIGL LopmILD Qgﬂﬁﬂl"m ’-D!D@”-D mf)j)mrrm
Qsrerens ol GFaps H6) 2 VS EISGTTC) Qmmﬁuu@gguu@@mﬂ
[2] p@@Pebsau [g] stoamnogid - .
[c] Guengsid d] (Bm@gm:_mmﬂglmn&epmw
............... has becorhe an essential for modern democratic nation states to CO3 KiI
ensure a strong sense of identificatjon whether the polity based on a
commonsense of identity. L :
[a] Secularism f [b] Regionalism _
[c] Communication [d] None of the above : |
soferggarsmus CsPw SIasar @ Gugycuﬂmmg L@/@uu@gg ........ RETEReY
Qemlumwurssifell’ L g e wrersBer Qunglgcvgmés ‘
LY LILIGHL WTEE O STERTL TR GTRTLIGHS OIEOL_ W TATLD a;rr@uo o2 awIja.
[a] wgdeniiisento .. [b] prERweunsgid -
[c] ng_m_/ . [d] Gwp&_@we‘rg/a/w@cvmw
Who put forward the word secularism? - _ " co3 K|
[a] Ram Ahuja : , [b] Abdul Ahamed ‘ l ‘
[c] Bipin Chandra [d] George Jacob Holyoake
LogFFTjLieTenLD TR m/rggmgmu.l P RTEUS S 6u wim?
(=] smbsyauregm (4] sig@siapo
[@)] S Ieirap@om '. [] s2miig Bes 511 Gannel Guins
...... +eeoetefers to the process of growth and ex énsi iti | Kl
on
[a] Industralisation - [b] Urbanisation P of cities CO3 K
[c] Modernisation [d] None of the above
@.’1575&7,@51 v Sl asanisf) s afl Meurda G)ewm@m.mmm
) Ej @fyﬂgﬂwmwwn&aw [b] 55ULDWLDIT¢955Q_,
BOIGTLOW DT 55
RS TIPS OneWhOISculturally soc ,
Ja lly » €CO 1 . o "v
SEE’]PrS:sed and exploited in the name of religion nomlcally and politically - CO3 K
{c] Untouchables. [3] Other backwarg ¢jags
R CE []‘Noneoftheabov



13.

14.

15.

2

18.

19,

................. S TEFTIFGWI NG LD, FeLp&H TR WITH )LD,
Qurgetngnrfwnsays orPw e FHwnsa)d L& EGwpanm 6 &nemt el
108 e GLiw fed &yessr_ LiLIBSmg)

[a] 898 [b] 9p e 5mIBW euiss LD

[c] 8avr_gssrsauisaer [d] Gopseir_emeu e1gyayLhladenav

.......... invoke team spirit in their members. CO4
[a] Team leader [b] Integrity  [c] Honesty  [d] None of the above

......... e BEISET 2 LIS TIS NG Syenfls HraTBS WIS G

gmydqﬂﬂ@@pﬂﬁ&;d‘r

[a] oyefigseaveussar [b] Gmiewio

[c] w& L& - [d] Gupempu agioys @eeama

............... cannot exist without proper accounting practices. . CO4
[a] Team. [b] Integrity [c] Honesty [d] Accountability ‘
FIW TET &6 & (& FEOL_(LP DS T Q) GOGUALDGD .. ............. IONCEEITTINTL L }

[a] s [b] Gmieoo [c] Grrewio [d] Quamisygemmpad

K1

© K2

Integrity is derived from qualities such as honesty épdcons istency of CO4 KI

............

[a] Team [b] Integrity [c] Character . [d] Accountability
Grieow PmILd Blewewggerentn . ........ ... Gunaip & ewrEisefled b Bg GriemLo
2 (FuTHnS). \ : ‘

[a] sw [b] Gmienio [c] sarenio © [d] Qurpiygemm

Who made the classic study India as a secular state? : | CO4 K2

{a] Shankar Rao [b] Mac Iyer

[c] Page [d] Donald Eugene Smith

Karr®s Lig LieoLs Q) BESWTEe G LLFFFTFLIDD FTL_15 <2, S g wimg?
[a] epmizsiome [b] Goggow i

[c] ugaid , [d] G)l_}}mn@l;ggk&mb@gj-

What is the first and most immediate social environment to which a child is COs5
exposed? ' ' ’
[a] Family [b] Nuclear family [c] Society  [d] both (a) and (b)

26 Gpbws QoL@ g6 LPpIL 2L any sups @Gipe) a1g?

[a] 6@ [b] o1emiE@Lous
Clowss  [d] @peinoud (o) woigivs ()

Family 1s T 'group COs
[a] Social [b] Institution [c] Universal [d] both (a) and (b)

NG TOILINTL YY), J—

NI
[a] Rps [b] Aayauews [c] yafaujead  [d] @oaw@is (a) s

In the Industrial Society the family is limited to husband, wife and their COs5

children is called

- [a] Extended family [b] family [c] Nuclear family [d] None of these

@ﬁﬂﬁdél@ﬁ)fﬁ'l&g;@@ GOLLL&eTaIGH, LoenaTal) LpmILD euis el er
OPBDS &N G16iTDI 9 a0 1p & & LiLI G A ). C

- [a] el feindsLiuc L @@ - [b] 6@wLIs | o
[e] sremi @b : g | |

1

[d] @ewevagiodeene ‘_

K1’

K1



COs5

: Kyl
X 4 *Qoaciet ? " -
20.  What is the basic um}l:)]l [?q(:;i]fyy (¢] Kinship [d] None of these
a] Marriage ey
L@]Ma'@sif g itsenL @ ereie’ 3 [d] @ emavargiayLilaane
o . [b] @ @b [c] 2-pay
[a] Bproemid )
=30 CO(@s) K-
Section - B . [5x 6 | Les
gn. Answer ALL the Questions '
* ’ COl K3
7l.a)  State the importance of Karma Yoga.
s500wsEPa wpsDuFausms O5Nalldsab
[OR]
. 1
21.b) Discuss the significance of value education. . CO K3
wPUyssDGT WEQUSHuGMSL UDD ofluTBEsaLb.
22.a) What are the main values of Jainism? . CO2 K3
FLOGTLOS S B\6T (LWEEW L@ LIS 6T WTena?
[OR]
22.b) Discuss the importance of Sikhism. - .CO2 K3
858w g3 Far PEHWSHuGamsL LpD afleur§ssayLd.
23.a) State the importance of democracy. CO3 K3
QBTSSP (LPSHWS IS 05 Malssayin
[OR] -
23.b) What are the characteristics of secular society? CO3 K3
LG EFTIUDD FApsSBetT LIGHTL|S 6T eTerrenr?
24.a) State the importance of team spirit. CO4 K3
6w Ylilarpsusgiusams O5MelésaLb,
. , [OR] CO4 Ki
24.b) List out the mass media in value system. cO5 K3
@i syeniotifed Qeug spar 201L_SEISe 6T LIL" 19 w65 EIS o
25.a) Explain the role of family in value formation. \ co5 K3
LB 2 GadsE06) GPLLSSe Lkiems aflona @B eir.
, . [OR]
25.b) i;at(; ége@p:: E\;c) G;/’alues. formed though peer group interactions
S GV & O GTGUT M T@Y)LD 2 (HUTSHELILIL | _ Gﬁf)ﬁwmﬂ) m@l—"l-l&mayrg,’ .
Qn. ) K-
No. Section - C [5x10=50 Lev|
' Answer ALL the Questio ; ! Cp ©)
2 A . 1 . - R . 1.
6.2) E’gu'?m t:; filgerent classification of valyeg Col K
% Y v . . i : p
| | L& eer wm@w@l GymauuanL @Wigm}a;efr;
26.b) . Expla; g
265) LED’;)I?‘“ the types of values, [OR] : :
DIILIL% 6 oy mmasmwaﬂm‘g@mmﬁ. ' Co12 K




27.a) Disc

| 27b)

%.a)
%b)
| 0a)

29b)

30a)

)

' @g)gmgamﬁm;

ribe the beliefs and practices in Sikhism. -
F5 QLSS 2 eiror BLOLE s & 6T LopmyLh gsml_@,psmma;mmaﬂsuﬁ)
&5 @Lb.

Trace the reasons for socnal probk [OR]

oblems like
@gﬁwrrmﬂ@v Sy LueL aungLd Gurerm :@l;:g;d,igen:@amhsm i
& TGN EIS G0 QTS F sewL B eh o ST @155 & T6uT

Explain the polltlcal awareness and its levels.

é\lg@ww Qﬂwuqmﬂmwwwﬂgmﬁmwasmmww Qﬂmas@rya;m
[OR]

Discuss the democratic function in India.

@ggwnmﬂw KBTS @arauevurr@ u/_,)gj) oﬂwn@&a;mm

Explam accountability and its types

QurmyLiLjenTia) LDpQJLD 9/ 5 6T QUGHEE GG m&?m&@ma;arr
[OR]

Describe the areas of competency.
Smevflair G Bsaer afleufigsaLd
Explain the role of various social institutions in value formation.

@LiL] 2 argsgBa LaGain/ FUpS ﬁ?ywmmamﬁm
[OR]
social values among children.

Explain how famlly heps to inculcate
(LbLILD GTaIGUTDY

Qu saps aflwpLAlWEIS T TS S &

2 508D TATLIDS afl o8 @ /m1& 6t

LIEIeS ol aTS; (5 EI S 6T

COo2

coz

o3
CO3
co4
Co4
COs

CO5

K2

K2

K2

K2

K2

K2
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Which of the following access specifier in C# allows a class to expose its member variables CO1 Kl

Date : 25.06.2021
Course Code : 20UITC21 Time : 10:00 AM - 1:00 PM
. Course Title : Programming in C#NET Max. Marks : 100
| Q.No. : SECTION - A (20 * 1 = 20 Marks) Cco(s) K-
‘: Answer ALL Questions Level
1. In C#, a subroutine is called a L ) CO1 K2
‘ 1.Function ‘  2Metadata
‘ 3.Method - 4.Managed code
J 2. The language allows more than one method in a single class. Ccor K2
1. ‘ 2.5
i 3.CH 4C ~
] 3.
[

and member functions to other functions and objects?

1.Public 2. Private
3.Protected ' 4.Internal
4. Which of the following converts a type to a Boolean value, where possible in C#? COl1 Ki
1 ToBoolean . 2 ToSingle ‘
3.ToChar 4AT0D-ateTime
5. Inheritanceis _ in nature Co2 K2
1.Commutative 2.Associative
' 3.Transitive 4 Iterative
6. The theory of implies that user can control the access to a class, method, or variable, CO2 K2
1.Data hiding 2.Encapsulation
3.Information Hiding 4.Polymorphism
7. . parameters are used to pass results back to the calling method CO2 Ki
LInput 2.Reference
3.Value 4.Output
8. Multidimensional arrays are sometimes palled _ Amays, Co2 K1
1.Square 2.Triangular |
3.R_ccténgu1ar, 4.Cube
9. What is the wild card character in the SQL "like" statement? Co3 K2

1* (Aéterisk) 2# (Pound) .

3.% (Percent) 4.$ (Dollar)




10.

11.

12.

13.

14,

IS.

16.

17.

18.

19,

20,

3 w7

3.Web farms

is used to store multiple data types k|

' 2.System.Array ‘ . .'7
1.System.String

\

1
Matl 4.System.Strore 1)
3.System.Maths

Th trols available in the tool box of the are used to create the user interface of a CQ3
€ contro

web based application. ;
\ icati indow {
1.Microsoft visual studio IDE 2.Application w !

4 None of the above

In Microsoft Visual Studio, technology and a programming Ianguage such as C#is CO3 K
used to create a Web based application.

LJAVA _ 2.0
3.\}B.NET - § 4 ASPNET ‘ |
A‘ Constructor - ' - ’ | CO4 K
Lis used to create objects 2.must have the same name as the

| . ~ class it is not declared within

3.Isnota method of a class ' ’ ' 4, Overddirig method

managed heap? - L A : )

1.Class Loader _ o ‘ 2.Garbage Collector
sers | 4CLR |
Different ways a method can be overloaded in C#NET ) Co4
1. leferent. parameter data types o 2.No order of parameters
3.No number of parameters 4.Not a number of parameters | /
A variable which is declared inside a method is called a variable Co4 K
1.Local - 2.Private |
3 Static o | " 4.Serial
A___ block enclose the code that could throw an exception. Cos K
1.Try ’ | 2.Catch -
3.Exception | | ' 4.Eror |
To output the value of mult1d1mensnonal array, Console WnteLmes(\) co; K
L ‘myArray[1][3] | ‘ 2myArray[] 3]
3:myArmray {1} (3}, dmyArray(1),3), ‘
11::111:11 acu:); e;;(;rs in the ff)llown}g BankA ccount cons&uctof: Public int Ba“kACCC)unt() ( cos ¥
' i.Naine A ’ |
i 2.Forma] Parameterg

3-Return type " 4.No errors.
A variable declare inside a'methoq ; Is called 4 variable CO5 K
1.Static

2 Private
3.Local ~

’ 4.Seria]



{
|

23.(a)

(b)
24, (a)

(®)
25. (a)

(b)

Q. No.

26. (a)

(b)

' 27.(a)

(b)

28. (a)

(b)
29, (a)

(b)
30, (a)

(b)

- Write a student regy) form to publish the grade

Answer ALL Questions
Recall Save File Dialog Box in C#.

[OR]
Define C# dialog box?

State conditional operator and give example.

[OR] .
Describe how Encapsulation is implemented by using access specifiers

Explain Operator Overloading with an example program

[OR]
Report access modifiers in c#?

Ilustrate a form in c#.net using datetimepicker and diplay todays date in a textbox in string

[OR]
Write a C# program to shows a simple operation using a progressbar

Explain how to create a blank file in the disk if the same file already exists

[OR]
Write a program in C# Sharp to append some text to an existing file,

SECTION - C(*10=50 Marks)
Answer ALL Questions

State the dot net framework architecture with neat diagram

[OR]
Explain the process of handling events through delegates

Recall sort() and reverse() method with the help of sample program

[OR]

Discuss how to accept two strings and perform the following operations :

Copy string 2 to string 3

Define multiple inheritances? Explain by giving examples,

[OR]
ng and method overloading?

Explain how to yse timer to write s;)me text to a text fi
button is clicked then the a
clicked,

Report the difference between method overridi

le for each seconds once the Start
pplication stops writing to the text file once the Stop button ig

[OR]

for total marks of M1LM2,M3 as input

Describe events and controlg

Col

Col1
COl

CO2
CO3

COo3
Co4

COo4
COs

Cos
CO(s)
col1

Co1
Co2

Co2

Co3

Co3
Co4

CO4

- COs

. [OR]
Write a program in C# Sharp to read 4 specific line from a file,

‘**0*'(.**“!

COs5

Level

K1

K1

Level

K1

Kl

K1

K2



10.

11.

TJ

(VS )

17.

18, -

19

20.

.+ custems both internal’
defines structurcs and process of opcratlonal systems both int

.
and external to enterprise. |
2 Transformation

1.Document modelling |
4. Business modelling

3.synthesizing .
standard was meant to be the universal answer {o email
interconnectivity
1.X.400 2.X.435
3X.300 : 4X.434
EDI messages have 3 common structure CcO3
1.Transaction set 2 Data segments
4.All of the above

3 Data elements

I

and send information

LWWW 2.ISP

3.SSP 4 None

An electronic check is one form of what? : . £ COS
1.e-commerce 2.online bar;k_ing | |
3.e-cash , 4.ché,ck

is the least interfering model but requires active search on the part of the customer- CO4

- 1.Catalog model | 2.Menu Model

3.CRM Model . 4E-Model

dﬁ ﬁ ) . X . 3 '
nes the structures and processes of the business environment both internal ~ CO4

and external to the enterprise'l

1.Document modelling

- 2.Transformation
3.Synthesizing . '
4. Business modelling
—————— creates modules fro capturin 'validati - 0
. , valid i .
e g at‘mg, transforming and applying key Co4
1.Document modelling |
‘ 2. Transformat;
3 synthesizing N
4.Busi ;
: Bysmcss modelling

i -
while designing and developing crogs 4
| nu

Lsoft mber of icati |
ware agent °r of application boundaries CO03

3.development agent 2-design agent
l.network ¢
3.offline ' 2 - C05
. ; SCrver
—— is only permyjs ‘ 4vi
sibl ftual
1.downloading © With the prio Written
N 1 permj
3 networking _ < Permiggjon 05
. upload: L : ‘ i
What type of P Oadll]g
ad g
PReArs on top of w Hile

~05

is a distributed file ,management system programs to access CO2

Kl



Y

Q. No.

21. (a)

(b)
22.(a)

(b)
23.(a)

(b)
24. (a)

®)
25.(a)

(b)
Q. No.
26. (a)

(®)
27. (a)

~(b)
28. (a)

(b)

29. ().

®
30. (a)

)

1.pop-under ad 2.banner ad

3.pop-}up ad 4. discount ad

SECTION - B (5 * 6 =30 Marks)
Answer ALL Questions

.

Define the term E-Commerce.

[OR]
Define Supply chain Management

Define Modem Functions.
[OR]
[lustrate Uniform Resource Locators(URL)
Describe Value-Added Networks(VANS)
[OR]
Explain about how to Develop EDI envelope for message.
Classify Structured documents
| [OR]
Summarize the Types of Data Warehouses.
Discover the digital signature of pdfdocuments
. [OR]
Illustrate about constructing Software Agent Methods

SECTION - C (5 * 10 = 50 Marks)
Answer ALL Questions
Describe Electronic Commerce Organization Applications.
[OR]

Enumerate Network Access Equipments with example.

Define Electronic commerce ﬁ'dmeWorks,
[OR]

. Describe about Internet Service Providers.

Explain about Purchase presentation phase.
, [OR]
Enumerate Consumer-Oriented Applications.

Explain How credit cards are used for electronic transactions.
[OR]

" Explain about EDI and its architecture and functions.

' Explain Software Agents and Characteristics of agents.

, [OR]
Write about how to Construct Information Filtering with examples.

AR R

. CO2

CO(s) K-

Level

Col Kl
COl Kl

co2 K1 .
co2. K2
CO3 Kl
co3 K2
co4 K2
. Co4 K2
c05‘ Kl
Cco5 Ki
Co@) K-

“ Level

- Col  Kl.
Ccol Kl
K1

co2 K2
co3 K2
Cco3 - Kl
Co4 Kl
co4 K2
co5 K2
co5 K3
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G.T.N. ARTS COLLEGE(AUTONOMOUS)
(Affiliated to Madurai Kamaray University || Accredited with 'B' Grade by NAAC)
END SEMESTER EXAMINATION - APRIL - 2021

(UNDER OUTCOME BASED EDUCATION (OBE) PATTERN)

Programme : ALL UNDERGRADUATE STUDENTS Date : 23.06.2021
Course Code : 20UEGS21 Time : 10:00 AM - 1:00 PM
Course Title : Environment and Gender Studies - oo Max. Marks : 100 '
Q. No. ; SECTION - A (20 * 1 =20 Marks) CO(s) K-
Answer ALL Questions Level
1. World environmental day is celebrated on ------ - ' . Col K2
2 QU8 &MHMIGFELE Q& TesorLTL LGN Heorld -
1.March LOM& 15 2. April gLIT60 15
3.May GLO 5 . 4.TunegO 60T 5
2. is the gaseous envelope of the Earth. ‘ . COl1 K1
eTeorLIG L LSl udledr eurru 2_enm. ‘
1. AtmosphereauerfLo6oTL_6ULD 2. Hydrosphereemam LGy mervLwif
3.Lithosphereailg @& meruL wi _ 4.Biosphere2_WIF&GaMeTLL
3. Water moves through the hydrosphere is known as the ----===-s--- cycle. .CO1 K2
B mlemev euSlwing B HSHBGLD @) Gl------------ &LPME ereor
SMLESLILGHMmSI.
1.CloudGLo& LD o 2.Sand LOGUOTEY
3, HydrologicnamL_ G meuedl & 4. HabitateumpedlLLh
4, Educating the people on Environment and its impact is Y[ Q— Education Col Kl

FHMIEFESLP60 DHDID ST HTESHD GMSS! 06SE5SE asmlﬁl55su ——
------ &Hevell 6T60TMI HeMLP&HSLILIHEMSI

3

1.StudyLILg 1L , 2.Environmental & ) mI& & L060
3.SciencedMlailwieL 4 Family @ WHOULD
5. The occurrence of a species in a small area and nowhere else in the world is called CO2 Kl

e AW UGS Ul WwHDILD 2 G Gaum THEIGLD R @) 60TE S 6T
B LD --reenneen- ETEOTIN DHEMLDSSLILIGIE DS

1.EndemismeTetor QL_LAl &L 2.Isolatism§§66ﬂ56)LD
3.Rareism${lﬂ§ﬁ66rmrr5m 4.Atomismé{@.l6)] ML

6. Among plants, --------- . constitute the largest number of species in the world. co2 K2
ATl 1L o0 [0V R— 2 LRCGWL H\& eTetoTenar]&en&udlevrmenr
@) ORI B6IT 2_6IT6I60T.

/ 1.Algae & ' 2 BryophytesLllemy GuImem LI (H)&6iT
3.GymnospermsZ LD BT e QL T Lh6 4.Angiosperms
, S4,EHF CLIMN QI LIFTLOEN
7. Whiskey is prepared from Cc0o2 Kl

.......... @oHa! alevd swmflasuubHnS



10.

I1.

13.

2.Peach, Apple and O.rangel_‘fE, '

- » > &
' ‘ 96T LDHMILD ST ©b
l.Grapes@ gren& ‘. cg;bLJLﬂ
4.Cane, Beet and Molai;es
‘ ’ P . . L._
3.Corn, Rye and Malt G?‘FI:GTTLD, P L?mg.n_o
gLhL LoHDILD DTV Gmneurrquasm
l ’ (6(0))
uinine is obtained from ' : ’
Q@Uﬂwﬂm @]@d’ i Qumuu®@mg;l ck pepper HS(ELIS]GIT@
Bla
1.Chinchona tree&) 60T GEFIT60T T |
L.D | .
o i , 4.Sugarcane& (L0
3.GarlicLL 60T () N

; ?

ino kinetic i verted into electrical energy’

Which of the following kinetic energy 1§ con eg) AL BNCEEY & )
Lﬂ;ﬁTQJ@Lﬁ TS ©)W&E D6y LleT E&@Qﬁ& wrHoUL® [J?Ql |
7. Wind energy&MTHMI S4MDMEV

4.All of t_hese@ 606U
SIMETHSILD

1.Tidal energy 'Q{@GU S4HM6Y
3.Hydro energyBJ S%DM6V

Which of the following produces energy because of temperature difference at various levels  CO3

in ocean? ' ‘ ' .
&L606) LuGeumy Blemeusatleh QauliLiBlemev GeumiLim(® @ IBLILIGST6L -

Uereu@euateaubfleh e181 uHmensy 2 BT GHMmS!?

1.Tidal energy 2y6m6v QHower - 2.Wave energy {60760 3, MHM6L
3.Solar energy @ flw 858'5@ 4.0cean thermal
: energy QLIS L6V QeuL Ll
: | 25DMEY |
Which of the following is the odd- one out? COo3

d]s&rm@e‘)_mrmmr_rﬂsb LDTDILIL L 6m6Y 618512

l.PetrolequUl_(Bl;rrrG\S]UJLb 2.Hydro electricity By
- Wergnyin
3.CoalBlvé el 4.CNGE).61607.89)
Which method js used to produce electricity i " ‘ |
: . ty in hydroelectri
s ﬁ]gmmmsgm'@@gngm 5m);rm;;cstr; Power plant? COo3
ume&ru@&,gﬁ:u@@mg]? T P8 e
1.By boiliﬁg the water to produde 2.BY runnin
Stea{“fﬂ"@ﬂ swrflag - , -dyrunmng.
Sewrerlemiy Q&ETH &5 ynmogm“ﬁmg
SMEULILIG 6T eLngyih e ?m.mﬂm"ésasm
3.BY ionizing Water@) Ui g g : B:UJQJQS\SW e
%Q’JQGUITQJ YR | 4.Any of the aboveGLnG3q, 2 _6iTeT
AUEGaISET anay Tes@ib
Idenlify the €nvirony " :
mental problep,
senfleof siempuimg, qﬂ')u@f;u;ed TP Indug
SDLwiany BTeman DYIFGLne), L‘ﬂus@cmmgmu_, CO4
1By not providing Jjobs to
humansig T o
Ceauemay Zﬂm&@*@ BY modey echnologies [i
) L:Ofﬁlasrrgg,sﬁr CTblock chai s 1
eoeuLh ‘ T
TS, &iiB)eq) Eer

k|

KI

K/

20



16.

19,

20.

3.By printing unnecessary large 4 By making people

amount of filesG&emeUUIMHM lazy L0 & 8>60) 61T
Quiflw erey Q& MIDGLIN) 8611118 @61 & 60T
CSHITLIL & M6 eLOBVLD.

S FF) (H\6U G 60T CLPEVLD.

Organic Agriculture advocates avoiding the use of CO4
S0 GeueTmedoremd _ LwedtumenL eliss
1.Organic Manure&&[ﬂm 9~U|~b 2.Stored WaterG& L0188 LI (
B0
3.Modern Techniques in 4.Chemical Fertilizers@)(J& mul6or
harvesting<y mi6uem L udl6v o _[JHIG6T
pefeor B LIMI&6T
Which one of the following is the prime factor towalds Soil pollution? CO4
LO60OT LOME UIMLIGM&smeor Lggsmeot &iyesor] LI 6dreu (6w eoTeumslev Grg,ﬂ
1 Soil erosiontnevor &{HLiL 2.Floods@Q6U6TerLD
SDumpmg of Industrial 4.Using land for‘
wastesQ BBl L &I irrigation IM&F60TSH S M &S
syt Q&ML (H&ev BlevG &L
LweTL(h & Sl &6V
Find the major non renewable energy usage in India Co4

@pswmele Ualll&s (g WsSW erflass LweTUmLenL &
SevrL ey

] CoalBlev& &Il 2.Petroleum products
, QUL Grmedlw QUITHL 86T
3 Natural gases @ WD S 4 Nuclear 3| g
QUMW &G 6T
According to Census of India 2011, literacy rate of females is _ compared to males COS5

which is 82.14%.
QHAW LGEEETAS TN Heours6 &G LILITLL, QuevtT S 61fl 60T

sdelune B s paTHEpLET RUUIIGLEUTS %G, Qs
82.14% 24,GLD. 8 .
1.65.46% 2.66.12%
3.67% 473.21%
Who first used the term gender? ‘ © COs5
Limeleorih 6T6bTM QUITT&6MB MW (LPS6l6V LW eTUGSS WeUr Wimy?
1.Robert 2.Sigmund Freud
Stoller[y MLIT L6V GLTEVI] & & Loevor LN T
3 Karl Jung& M6 al 4 Judith Butlergg®19.&LIL60 [
Gender identity is usually formed by age of L COs
LImed)eorsiemLWIMeTDQUIMGIUTE  auwHeve_maurBmgl.
1 Fiveg3 b &I 2.8ixp 0l

3.ThreeeLpedTm 4.Four[BITeiT &

is defined as a personal conception of oneself as male or female (or rarely, CO5

_both or neither). - , T 1

K1

K2

Kl

Kl



21. (a)

(b

22. (a)

®)

23. (a)

(b)

24. (2)

(b)

25. (a)

(b)

Q. No. ’

26.(a)

®

27. (a)

QU (Sieveu s IfBTS,

56&@@%6&&3{6‘\)6\)@1
@erm@mg{sua)@@wmw) o
ﬂGUT[D@GUﬂLJlJL.LBS(ITj&EFF&SG)JGMUUJQJBSBiUU@@[DQL
2.Gender roles
1.Gender Identi . : .
u?cglisorg;sgt_mrrmm L9 6or LIS ) [ Ml 85617
4.Gender

3.Gender discrimination

umedeorum@&Um@h cqualityurr@‘i]m&mggjmm

SECTION - B (5 * 6 = 30 Marks)
Answer ALL Questions

Explain the Global Warming.

Yyl Qeuliuwmeueng Lol aﬂa.m‘]asasmm
[OR]

What is meant by Acid rain?

SIS 6VL0EBILD GTEITDITEV Grscrstsr?

Write a short note on Food Chain. -
2 eoorey FmISEN LHN GSOILIL 6TWRS!IS

| [OR]
Explain the abiotic components of an Eco system.

FHMIEELL6V emLoLILlev .o_uﬂl;rmm asrn;rastsﬂesemerr efeTs &5

Explain briefly about Renewable energy resources.

uglul_ﬁ]a;asgr,g,asas Tl F&5) aueTmhIGHemerTLl umﬁl Sr(B&SH0NS N6 & .

[OR]
Summarize the advantages and disadvantage of wind conservation system.

STMHMTEmN6Y LIMSISGITLIL] giemmuljlsarrjmsmmasm LHmILD BenLnsemerT

&F(HESHIOMES 615G 5.

Compare Renewable energy resources and Non — Renewable energy resources.
guuljlasasg,gases aTflF&ES aueTrSameTD LSINLN&ES WIgWns
SMHMEL aleThIGmeTW D LB
. ~ [OR]
What is Environmental pollution? State its causes.

& D MIFGLP6V LOM&LIMT(H 6T60TMITEV 6TE0T60T? S 60T &IT[T600T Ml & 6M6TE T M1

What are the steps we can take to end Gender inequality?

unaﬂm&mgglsu@mmmmmgpmmasgas@arrm@mu‘mrrmcr@&asaaah&mrjl_éﬂlw

6T60T60T?

~ IOR]
Write down three ways to liberate the LGBTQ+ in your country.

2 BISETHTLI96) LGBTQ + &3 el Qe &5 enetim eufl&enen eipsis.

SECTION - C (5 * 10 = 50 Marks)
Answer ALL Questions

Explain the components of Environment'
FHMIE @5@6\3]@ Fnm1&6T LD eflens: 8

[OR].
Explain Global warming and Ozone layer depletion.

Hel QeuliLinemLg e OO RCEFTET B &S GMMEY S FEUieuMenm

leT&G s

Explain the energy flow in an ecosystem,

(t
28. (
CO(S) K.
. Lo, (
OL
9. (
CO1 K
co2 g
(
CO2 X 0. |
Cco3
co3 [
co4 K
cos K
cos K
cos K
coe ¥
Le\
cor ¥
cor ¥



®

28. (3)

29.(a)

()

30. (a)

(b)

2 _MBIGET 60T

R FHYFSGLLD MU @yhmeh gL LG eflars:s.
' ‘ [OR]

Explain the conservation of wild life. CO2
auaTellVmI G &6fler LngIsmlienL eflerd:s.
Describe petroleum resource, oil shale and tar sands CO3
QUL GTmedlW6U6T, 6T6uoTQl6voT I G6)q 6 Dol j i T

: . : Q60 LDMHMILD ST LOEUOTE) 24 ULI6UMDED
U] il6s & 8. s e * e

[OR]
Discuss the impacts of Coal mining and burning. Co3
Bl s &mhis HmID 956 erilwh &réshisamaTLl Lim
ANeTEHG 5.
© CO4

Tllustrate theEenvironmental laws in India to protect Environment.
@nbH W Telleb & MHMIF GVl LITGISTEELD & DI @060 &L L5 5606T

umn) elleTs @&

~ [OR]
Enumerate the different types of natural resources. COo4
LIGGeUmI EUEM & WITET @) WMen & sumrmasemm umgﬁ asswras@@as
’ Co5

Explain the followmg terms.

1. Gender identity

2. Gender roles

3. Gender discrimination

4. Gender inequality

Wereu@d B nenmaenarT 6l Es.
1. LIMeQ6uT j6mLLIMEITLD

2. LimeSleor LIS Il &6iT

3. umedleor LMGUTH

4. Luimedleor &FL0SS!6uLOE0TeMLD
[OR]

/

Write down three of the examples of gender inequality and gender discrimination you come CO35

across in your daily life.
eumLp&enauiley Brig6T SHTERILD uiedleor

FL0G Gl 6uL0l60T60IL0 W oLh Limedleor urr@urrt_m,sor eLN BT
70 &35 5 TL(H HeneT T SI5.

Fo oK AR AR

K2

K2



Reg. No:

&.T.N. ARTS COLLEGE (autonoMOUsS)

‘(Affiliated to Maduraj Kamaraj University)||(Accredited by NAAC with ‘B’ Grade)
END SEMESTER EXAMINATION -‘APRIL 2021

(UNDER OUTCOME BASED EDUCATION (OBE) PATTERN)

Programme : B.C.A/CS/IT o o Date: 26.6.2021
Course Code: 20UMAA22 Time: 10 am. to 1 pm.
Course Title : OPERATIONS RESEARCH . : - Max. Marks: 100
Qn. - Section — A ‘ K | _ |
No. ~ Answer ALL the Questions  (20x1=20 ) CO(S). K. Level
1. Each constraint in an LPP model is expressed asan __ . CO1 . KI
[a] inequality with > sign [b] mequallty with <Vsign ’
[c] equation with = sign [d] All of the above _ | '
2. Generally operation research is used for . cor K2
" [a] Scientific approach [b] decision making
[c] solutien ' [d] Varié,bles A
3. Thelinear function Z = cyx; + Co2p + oo, +cutawhich CO1 K1

is to.b'e minimized (or maximize[d] is called the
of the general LPR.

[a] linear programmmg problem [b] objective fuhetion
[c] constraints _ [d] hmltatlons

4, The constraints in LPP' model becomes redundant because COl1 K2

.[a] two profit lines may be parallel to each other .
[b] The solution is unbounded

[¢] This constraint is not $atisfied the’solution
[ all the sbove . ,

3 Any feasnble solutlon whic
: of a general LPP is called
[a] feasible solution
[c] constraints .

h optimizes the objective functign | CO2 K1

[b] objective function
- [d] Optimum solution



10.

11.

12.

13.

The general LPP is in standard fqrm if . cO2
.[a] the constraint are sfrlct qua_tmns

[b] the constraints are _mequal.lt_les of < type

[c] the constraints are Inequalities of. > typ-e .

[d] the decision variablcs are unreftncted In sign

Using graphical method, the optimum solutjon ofthe LPPof  CO2
maximizing z = 10y + 15y subject to : _

2x +y < 26, ¥+2y<28, y—y <5 andx >0,y >0 js

obtained as . :

[a] x=8 and y=10 . [blx=6 and y=1

[Clx=6 and y=1q [d]lx=s8 and y=8, o

‘ : A\
Decision variab]eg in an OR model are . : Coz2 -
[2] controllable [b] uncontrollabje C
[c] parameters - . [d] constants
The signal for optimality in 5 maximum mode] jg . Co3
[a]::j.c}SO,forallj - [blz; =0 o
[¢] Z-6; > 0 for 4] j [d]z_¢ =0 \
Fora maximization problem, the objective function COo3
coefficient for an artificial variableis - | '
[a] +M [b] —m - |
[c] zero - [d] none of the above

If an optimum solution is degenerate, thep
[2] the solution is infeasible_ : ‘
[b] there are alternative optimum solutjong

[c] the solution is of no use to the decision maker

[d] none of the above ' _

At an iteration of the ysyg] simplex method if there is at Jeagt CO3 .
one basic variable ip the basis at zer, level and af '

-  COo3

\. .,
[a] infeasible [b] unboundeg
[c] non- degenerate | [d] Degenerate
In ?dtr-ansportation problem North-Wegt cormer rule woy|q CO4
yield: -

[a] An optimum solution

[b] An initja] feasible solution

[c] A Voggl’s approximate solution
[d] A minimym, cost solutiop = -

\

K1

K1

K1

K1




Phe solution to a transportation problem with m-rows and n OA
columns s feavible of number of positive allocations are
alm 4 n (bm «n
ftlm 4+ n- 1 [djm +n + 1
CO4

The dummy source or destination in a transportation problem
i added o0

{a] satisfy rim condition

[b] prevent solution from becoming degenerate

[« ] ensure that total cost does not exceed a limit

{d] all of the above

In a transportation problem, the materials are transported CO4
from three plants to S warchouses. The basis of feasible

solution must contain exactly, which one of the following are
allocated cells?

[a] 3 [b]5 [c]7 (d] 8

An assignment problem COS5

[a] Is unbalanced when each of 1hc given workers cannot do -

cach of the given jobs
[b] May not be balanced if the number of jobs matches with

number of workers
[c] Can be balanced by introducing a dummy row or dummy

column
[d] can be balanced by introducing dummy rows as well as

dummy columns .
In an assignment problem involving four workers and three COs5

Jobs. total number of assignments possible are
la] 4 [b] 3 [c]7 [d] 12
If there were n worker, n jobs .

{a] n solutions [b] n! solutions

[c] (n = 1)! solutions [d] (n™) solutions

COs

For a salesman who has to visit N cities, following are the COs
way of his tour plan

[a] m [b] n!
[c] (n+1)! [d] (n —1)!

Kl

K2

K2

K1

K1

K2

K2



Qn. No.
21. a)
21 . b)
22. a)
2. b
23. a)
23. b)
24, Q)
24, b)
25. a)

Section-B -
Answer ALL the Questions (§ x6=30)
Discuss Scientific methods in OR?
[OR]

State three OR models which have wide Commercial
application? _ . )
Write short notes on slack and surplus variables?
[OR]
Solve graphically the LPP'
Maximize z = x, + x, subject to
5x, +3x, <15
X +x,26

X,%, 20

- Write the algorithm of simplex Method.

[OR]
Using simplex method solve the LPP.
Maximize z = 25x, +20x, subject to .
16x, +12x, <100
8x, +16x, <80
X,x, 20 ,
Transportation problem whose cogt matrix

¥
\

| and rim
Tequirements are given in the following tables
D [ b ] Dy | Capacity
N N N 4 6
0. 4 3] 0
nn L[ 10
eman ..n 6 '
| "[OR] e
[l)Jsmgf Vogel’s approximation method, obtajn the initia]
asic feasible solution of the transportati '
whose cost matrix and rj e Froblem

m requireme

foll OWhﬁmi nts are givep in the
A& T —T—

Sl |7 4 G
P, 3 I3 |
P, TT—— 1 8
Py S o T8 ]
4 L 16 T5—L |
Demand |4 > 2 14

Three Jobsjy j, - 34

processmg COsts are o
given in ¢
maﬁnx_fc_mp as showp below.'Fi'nd the agg; he cost
Will minimize te Overa]] pl‘Ocessing cost o 0t, which

CO(s)
co1

CO1

- CO2

CO2

CO3
COo3

CO4

CO4

Cos

K = LeVel
K1

K1

K3

- K1

- .K3

K3

K3



M, M, My
i : 19 28 31
72 1 17 16
1 7s 12 15 13
. [OR] : :
25 b) A company has three jobs to be done on three machines. CO5 K3

Each job must be done on one and only machines. The

cost of each job on each machine is given in the following
table. -

Given the job assignment, which will minimize the cost?

A B c 1
X 4 6 8
Y 2 3 4
Z 4 8 5
Section — C o | |
Qn. No. Answer ALL the Questions (5x10=50) €O _ K- Level
26. ' a) Explain how to classify the models in operations - ) COI K1
. research? - , ‘

[OR]. A
26. b)  Explain the scope of OR. ‘ - COo1 . K2 .
27. a) A tailor wants to stitch 3 types of woolen coats say . CO2 K2
A,B,C for which he uses three colors of woolen cloths
red, green, blue. Type A coat needs 2 feet of red
woolen cloth and 3 feet of blue woolen cloth, Type B
coat needs 3 feet of red woolen cloth and 2 feet of each
green and blue woolen cloth, Type C coat needs 5-feet -
green woolen cloth and 1 foot of blue woolen cloth the
tailor has only a stock of 8 feet of red woolen cloth and
10 feet of green woolen cloth and 15 feet of blue
- woolen cloth, He will get-an income of Rs. 100 from
each Type A coat and Rs.200 from each Type B coat
\ ' and Rs. 150 from each Type C coat. T he problem isto
* be determine how the tailor should make use of the
available of the available materials show as to _
‘maximize the total income from finished woolen coats.
Formulate the above problem as an LPP.

' ~[OR]
'27_. b)  Solve the following LPP Graphically
. Maximize z = 20x, + 30x, subject to

*28. @)  Write the iterative procedure algorithm for Big-M
: . method '

Cco2 K3
CO3 K2

[OR]
\ .



28. b Using si]\n;;;:)t; ?;:t:(f ;lol—v; ;}:e_,_lél;l:s .
3x, -X, +2x, <7
=2x, +4x, <12
—4x, +3x, +8x, <10
XXy, 20

29. ) Using VAM find an initial basic feasjble so'lution for
' the optimum distribution to maximize the
transportation cost for the following TP |

29. b)

Solve the following Transportatjop problem

Places p,, By, P, Ies a bys fc;r_a tour. the
distance jp k.m between tbe sheds d placeg Where the
cust(?mers are live are given in the followmg distance
matrix . Hoy should the buse Signed to the
clllrsutionlqerst }slo Minimijze the distance travelledo
also Mum distance trave]e Yy th .
€ buges,
S :2 ‘ ;”3, < e
3 15 '
S, 3 9 ' 13 S
. : 6
12 2
7 12

CO3

K3
Co4 g
CO4 K3
Cos 3

COs K3

o
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, SECTION-A [10X1=10]
Answer ALL the Questions.
Choose the Correct Answer.

1. The number of subsets of a set with 4 elements is

[2] 4 | [b] 8
[c] 16 S [d] 32 .

2.If A = {8,4,6} and B= {5,3,7} then B\A is
[a] @ | o [b] {8,4,6}
[1{537} S [d{345678)

3. If P: Asha is smart, Q: Veena is smart, then the symbolic form of the
statement “It is not true that Asha and Veena are both smart” is '
[a] =(P— Q) [b] ~(PA Q)
[c] 2PA—@Q | [d] =(Q - P)
4. If P: Triangle ABC is equllateral and Q: Trlangle ABC is equlangular then a
PoQis
[a] If triangle ABC is equilateral then trlangle ABC is equlangular
[b] If triangle ABC is equiangular then triangle ABC is equilateral.
. [
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{c| Triangle ABC is equilateral if and only if triangle ABC is

equiangular.
| ' [d] Triangle ABC is equilateral and triangle ABC.is equiangular.
5. The recurrence relation for the sequence D (n)=2n+ 9is
[@lD(n) —D(n—1) =2V¥n = 1 with D(0) =9
Y\ D(n) +2D(n— 1) =0Vn = 1with D(0) =9
(€ D) — 2D — 1) = 0¥n = 1 with D(0) =9
WD) +Dn—1) =2Vn= 1 with D(0) =9

6. The order of recurrence relation T(n) = Z(T (n— 1))2 —nT(n—2)is

fb]2

fall
fc13 [d14
7. The square matrix A is a skew symmetric mafrix if
[a]A=AT . {b]A=_AT
() A= AN [d]A = A"
8. If a, b are the eigen value of A then eigen values of A™ are
[a] ™, b™ 6] == 5w
| [l fﬁ:‘m [d] ™ + b™a™ — b™
9. The number of edges in the complete graph Keis____
 {a]2 [b] 4
[c]6 [d] 8

i, =

10. The adjacency matrix of the graph G s _~_

el
1 2
ed e2
4
i e3
) 0110 0 0 1
1 0 0 1 10 0 O
[a] 0 0 0 1 [b] 1 0 0 1
0110 o0 1 1 0
<=0 1 1 0 o0 1 1 0
1 001 E 1 0 0 1
fel (1 0 0 1> [d] <1 0 0 1)
1 0 1 0 0 1 1 0
SECTION —B
Answer ALL the Questions.

11. a) State and prove the De Morgan’s Laws.
[OR]

b) If Aand B are two sets then prove that (i) A — B=ANB"

(iyA—B=A=ANB=0.

12. a) Draw the parsing tree fo
[OR]

b) Prove that p >=>CEq>2" p)-

-3--

[5X 7=35]

r the formula (((-—.p) - (pA))A(=(p = q))).
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13. 2) Solve D(n) — 8D(n — 1) + 16D (n — 2) = 0 where
D(2) = 16,D(3)=80.
[OR]
b) For the sequence defined by A(k) = k% — k, k = 0, obtain the
recurrence relation of order two if A is a sequence of integefs.
14. a) Verify whether the following system is consistent. |
x+2y+z=11,4x+6y+52=8,4x+4y+6z=38
[OR]
2 4 -1 |
b) Find the inverse of| 0 3 7

using elementary row operations.
8 1 5 ‘ '

15. a) i) Prove that the sum of the degrees of the points of a graph G is twice
the number of lines. | .
ii) Show that in any group of two or more people, there are always two.
with exactly the same number of friends inside the group.
[OR]
b) Let G be a (p, g)graph. Prove that the following statements are
equivalent. ' '
(i) G is a tree.
(ii) Every two points of G are joined by a unique path.
(iii) G is connected and p = q + 1.
(iv) Gis acyclicand p = q + 1.

e

)
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SECTION-C [3X10=30})
Answer Any THREE Questions. ’
16. a) Define symmetric difference of two sets. '
b)IfA={d,ef g} B= {a,c, f}then find AAB.
(c) If A and B are sets then prove that AAB = (A UB) — (A N B).
17. Define tautolo gy and contradiction. Verify whether
(-9 Alg »>1) =
18. Solve: S(k) — 3S(k — 1) — 4S(k — 2) = 4*.

19. Find the eigen values and the eigen vectors of the matrix

8 —6 2
—6 7 —4.
2 -4 3

20. Find the shortest disfanees from A to all the other vertices 'of a graph G.

(p — 7) is a tautology.

wlfing
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19. What are the different types of printers? Explain the advantages,

disadvantages and uses of each.

20. Discuss the Network Topologies in detail.

~ Programme : B.B.A

o 1T HEE '\T

(Aﬁ’ liated to Madurai Kamaraj University)
(Accredited by NAAC with ‘B’ Grade)

END SEMESTER EXAMINATION — NOVEMBER 2020 -

Date : 19.01.2021 _

Course Code: 17UITN11 Time : 10 am. to 1 pm.

Course Title : Introduction to Information
Technology ' = Max Marks :75

\

SECTION-A : [10X1= 10].
Answer ALL the Questions. -‘ '

Choose the Correct Answer.

1. Which of the following is a portable computer?
[a] Laptop [b] Subnote book
[c] PDA _ [d] tablet
2. ‘A group of 8 bits is called 5 . ,
- [a] byte [b1GB
[c] MB ~ [dTB
3. Which of the fdllowing toses its contents when the computer is tﬁrﬁed oﬂ':i .
[a]RAM - [b] ROM
[c] PROM © [d] All of the above
4,  performs arithmetic and logicalb operations.
[a] ALU \ fb] Control unit

[c] Monitor ~ [d] Printer



Which of the following is a secondary storage device?

[a] Magnetic tape
[c] Optional disk

[a] Keyboard
[c] Digitizer

—1--

!'f y

[b] Hard disk
[d] SSD

. The input device used to enter drawings and sketches in to a computer jg

[b] Floppy disk

L

d] Speaker

i What is the amount of data that can be transmitted in a fixed amount of

time called?

[a] Refresh rate [b] Resolution -
[c] Bandwidth  [d] Pixel density
8. Which of the following is an operating system?
[a] DOS [b] Linux
[c] Mac OS \ [d] M office
9. LAN Stands for . .
[a] Local Area Network [b] Large Area Network
[c] Local Access Network [d] Long Area Network \
"~ 10. Which of the following is a browser? '
[a] Windows [b] Word processor

[c] Spreadsheet

=,

[d] Internet Explorer

SECTION-B [5X7=235]
Answer ALL the Questions.

11. a) Explain the characteristics of computers.

12,

13.

14.

15

16.
17,
18.

[OR]
b) Explain thé parts of a computer in detail.
a) Explain the working of the CPU.
[OR]
b) Write short notes on ROM.
a) What is a magnetic tape? How does it work?
[OR]
b) Explain the different types of bpfical disks.
a) Explain the different classification schemes of computer monitors.
‘ [OR]
b) What are the different types of software? Explain.

. a) Explain the types of networks in detail.

[OR]
b) Explain web searching in detail.
- SECTION-C - [3X10=30]
.Answer Any THREE Questions.

Discuss the classification of computers in detail.
Explain the factors affecting the processor speed.

Discuss the different kinds of input devices.

=3
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n : SECTION-A [10X1=10]
- Answer ALL the Questions. :

Choose the Correct Answer.
1. Operation Research approach is :
[a] intuitive [b] objective

- [c] multi-disciplinary #[d] all of the abc;ve
. 2. Decision variables in O.R. models are 5 -
“[a],cc\)ntrollable A" [b] uncontrollable
[c] pérameters [d] constants - %

3. A constraint in a linear programming problem restricts
[a] value of objective function [b] value of decision variable
[c] use of available resource _ [d] uncertainty of optimum value -

4. If two constraints do not intersect in the positive quadrant of the graph, then

[a] one of the constraint is redundant
[b] the solution is infeasible
[c] the solution is unbounded

[d] the solution is feasible

—-1--



- 5. For maximization LPP, the objective function coefficient for an artificial -

variable is
' [a] +M [b] -M
[c] +1 [d] 0

.6. If an optimum solution is degenerate, then
[a] the solution is infeasible
[b] there are alternative optimum solutions.
[c] the solution is of no ﬁse, to the decision maker.

[d] the solution is feasible

7. The dummy source or destination in a T.P. is introduced to

[a] prevent solution to became degenerate.
[b] to satisfy rim conditions. .
[c] ensure that total cost dbes not exceed a limit
[d] solve the balanced transportation problem.
8. The solution to a transportation problem with m-sources and n-destination
is feasible, if the number of allocations are
[2] m+(n-1) [b] m+(n+1)
[c] m+n [dmxn
9. In an assignment problem involving four workers and three jobs, total
number of assignments possible are .
[a] 4 [b] 3
[c]7 [d]5

i, .

iii) Is the optimum solution unique? If not, find an al\ternative

optimum basic feasible solution.

20. A ,manufacturing'compar.ly has four zones A,B,C,D ahd four sales

| engineers P,Q,R,S respectively for assignment. Since the zones are not
equally rich in sales potential, it is estimated that a particular engineer
operating in a particular zone will bring the following sales: Zone A :
4,20,000, Zone B : 3,36,000, Zone C:: 2,94,009, Zone:D :4,62,000. The

' engineer,s are having different sales ébility. Working under same -

conditions their early sales are proportional to 14,9,11 and 8 respéctively.f -
The criteria of maximum expected total sales is to be met by assigning the
best engineer to the richest zone, the next best to the second richest zone

and so on. Find the optimum assignment and the maximum sales.

N

-]



10. The minimum number of lines covering all the zeros in a reduced cost

: SECTION-C [3X10=30] \
Answer Any THREE Questions. Matrix of order b can be-
16. Discuss various classification schemes of models. [a] At most n [b] at least n
17. A company makes two kind of leather belts. Belt A is high quality belt B [c]n-1 | [din+1
Is of lower quality. The respective profits are Rs.4.00 and Rs.3.00 pe belt. ' SECTION-B [5X7=35]
Answer ALL thé Questions.

Each belt of type A requires twice as much time as a belt of type B, and if
11. a) Describe briefly the different phases of Operation Research.

[OR]

b) What are the advantages of Operation Research model?
12. a) A company has three operational departments (weaving, processing and

All belts were of type B, the company could make 1000 per day. The
Supply of leather is sufficient for only 800 belts per day (Both A and B
Combined). Belt A requires a fancy buckle and only 400 per day are

Available. There are only 700 buckles a day available for belt B.
packing) with capacity to produce three different types of clothes

Determine the optimal product mix. Formulate this as a linear ,
Programming »prob‘lem and solve it by Graphical Method. ‘ namely suiting’s, shirting’s and woolens yielding a profit of Rs.2, and

18. Use simplex method to solve the LPP: Maximize z=4x +10x, subject to Rs.4 and Rs.3 per meter respectively. One meter of suiting requires 3

minutes in weaving, 2minutes in processing and 1 minute in processing

the constraints 2xx, <50;2x +5x, < 100;2x, +3x, <90;x,,x, 20 ]
19. Consider the following transportation problem: and 3 minutes in packing. One meter of woolen requires 3 minutes in
[ Factory Warehouse Stock - each department. In a week, total run time of each department is 60, 40
{ NI
f 11 2]3/4[5]6 available and 80 hours for weaving, processing and packmg respectively.
: 51 Z 171 : g gg : Formulate the linear programming problem to find the product mix to
B 9 |1 == L _
C 11]10/ 6 12128 90 maximize the profit.
D 9/10/9 619 12 50 [OR]
Demand | 60 | 20 | 40 | 20 40 (40| | | _
. i ine: hical method to solve the following LPP: Maximize )
i i tity from B to Godwin 5. Determine: b) Use grap
Iiis ngpossiblesoratepat £54 qua-n l y thod : z = 2x, +3x, subject to the constraints ‘
rmsteEEE x, +2x, £30;x, — X, >0;x, >3;0<x, <20,0=x, <12.

i) Initial solution by Vogel’s App

ii) Optimum Basic Feasible Solution.
--3--
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13.2) Use Big M method to solve the LPP. Maximize z = 3x, + 2x, constraints 15. a) A departmental head has four subordinates, and four tasks o be

2x 43, <Lx, +4x, > 6%, %, > 0 Performed. The subordinates differ in efficiency, and the tasks differ

[OR]
b) Use two phase simplex method to solve the LPP: Maximize

Intrinsic difficulty. His estimate, of the time each man would take to

Perform each task, is given below:

z =5x, +3x, subject to the constraints 2x, +x, <1 x, +4x, 2 6;x,,x, 20 , 'I;asks [ s j
14. 2) Obtain an initial basic feasible solution to the following transportation F l F / © ] HJ
problem using the north west corner method: ' [ F 8 / / 7/ ! IJ
T | B [13]28]14]26]
\ \D\E\F \G\Avallable\
\ 9 / 18 / 15 /
6

A \11\ \17\14} 250J | : ID 119]21
ML I A -
‘: C \21\ \ 110\ 400 [OK]
\200X 225 \275\250‘

Tchuirement b) A student has to select one and only one elective in each semester and
the semester and the same elective should not be selected in different
[OR] semesters. Due to various reasons, the expected grades in each subject,
b) Find an optimum solution to the following transportation problem: if selected in different semesters, vary and they are given below:
| Factory Warehouse Capacity Semester | Analysis | Statistics | Graph theory | Algebra
D|E| F G : I F E - D C
A 42 | 48 | 38 | 37 160 I E E C C
B 40 |49 | 52 | 51 150 I11 C D C A
C 39 | 38| 40 | 43 190 1\Y B A H H
Demand | 80 {90 | 110 | 160 The grade points are: H=10, A=9, B=8, C=7, D_=6, E=5 and F=4. How

will the student select the electives in order to maximize the total

expected points and what will be his maximum expected total points?




19. Explain the concepts of webpage design. .

20. Elaborate social networking in detail.
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SECTION -A - [10X1=10]
Answer ALL the Questions.

Chbose the Corfect Answer.

1. __ connection connect to your ISP using a telephone line and modem..,
[a] Direct : [b] Dial-up -
‘ " [c] Wireless [d] Satellite _
2. Which of the following are third generation(3G) cellular technologies?
" [a] EDGE : [b] HSDPA
[c] UMTS [d] All the above
3. The URL of the website i$ enteredin .
[a] address bar [b] tool bar
[cj menu bar [d] title bar
4, isan interactive tool to help people locate- information available via
the WWW g
[a] Web index  [b] Web directory
[c] Web search engine td] Web catalogue -
-1--



is an internet service that translates domain names in'to IP . SECTION —-B BXT=35)

addresses. Answer ALL the Questions.
|2) Domain Name System [b] Translator - 11. a) Explain about Dial up connection.
[c] Web address [d] ISP | [OR]
6. Which protocol governs the transfer of Hypertext between two or more - b) Write a note on cvellulal" broadband
computers? |
[a] TCP/IP [b] FTP 12. a) Explain the working of web.
[c] TELNET [d] HTTP [OR]

7. The process of separating the unwanted mails is called as b) Give an account of searching the web.

[2] filtering [b] spaming 13. a) Write about domain names.
[c] phishing [d] all the above ] - [OR]
8. The first page of a website is knownas___ b) Write a brief note on Telnet.
[a] front page [b] title page
[c] home page [d] mail page 14. a) Explain the safety tips for using E-mail.
9. Which one of the following is not a social networking sites? ‘ [OR]
(2] Mosaic [b] Myspace ‘ b? How will you create a website? Explain.
[c] Facebook [d] Twitter 15. a) Write a note on discussion forums.
10. A isan internet community which is dedicated to the discussion of a [OR]
particular topic of interest. b) Explain briefly about internet relay chat.
[a] mailing list [b] video conferencing
[c] IRC [d] news groups SECTION-C 13 X10=30]
Answer Any THREE Questions.
16. Write about History of Internet.
17. Discuss about different types of browsers.
2 18. Explain the following protocols. i) TCP/IP ii) FTP

.
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15. a) Explain stack organization in a system.
[OR]

b) Write short note on data manipulation instructions.

SECTION-C
Answer Any THREE Quesﬁons.
16. Prove that NAND and NOR are universal gatesr.» ’
17. Elaborate the functionally of the following,
i) Adder/Subtractor ii) Controlled inverter iii) Half Adder.

18. Explain the function of seven segment decoder.

19. Describe about Micro Programmed Control with neat diagram.

20. Explain addressing modes with suitable example.

-l

[3X10=30]

.S‘QSS.?J,DPE

[ |

Reg. No:r

(Affiliated to Madurai Kamaraj University)
B (Accredited by NAAC with ‘B’ Grade)

G.T.N. ARTS COLLEGE (AUTONOMOUS)

END SEMESTER EXAMINATION NOVEMBER 2020

Programme :B.Sc.,(IT)

Course Code: 17UITA31

Course Title : Digital Principles and
Computer Organization

Date : 05.01.2021
Time: 10 am. to 1 pm.

Max Marks :75

-SSECTION - A
Answer ALL the Questions.
Choose the Correct Answer.

[10 X 1=10]

1. The binary number 10101 is equivalent to decimal number

[a]19 - [b]12
[c]27 [d]21

2. The universal gate is
[a] NAND gate [b] OK gate
[c] AND gate [d] NOT gate

3. In Boolean algebra, the bar sign(-) indicates

[b] AND Qperat—ion
_ [d] NOR operation

[a] OR operation
[¢] NOT operation

4. 2’s complement of binary number 0101 is -

[b] 1111
[d] 1110 -

[a] 1011
[c] 1101

. ==
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5. A device which converts BCD 1o scven segments iscalled___

[a] encoder [b] decoder

[¢] multiplexer [d] demultiplexer

6. Which of the figures shown below represents the exclusive-NOR gate?

> > 1

3 b. c. d.

= In instruction format. address of any data location is said to be
[2] function code [b] instruction code
[c] operand (d] lo‘gical code.
8 Register which is used to store values of arithmetic and logical operations
1s termed as
[2] arithmetic register [b] accumulator
[c] logical register [d] controller
9. Splitting cache in to separate instruction and data caches or by using a set

of buffers usually called

[2] cache buffer [b] data buffer

{c] instruction buffer [d] trash buffer
10. A stall is commonly called a

[a] pipeline bubble [b] bubble

[c] depth of the pipeline [d] both (a) & (b)

D

S KT =13\

Answer ALL the Questions.

11. a) Write short notes on

a) ASCII Code  b) Excess-3 code

[OR]

b) Convert the given binary number in to decimal, octal and hexa.

10001101.00112

12. a) braw the logic circuit ;nd simplify -
f (a,b,c,d)= ABCD+ABCD+ABCD+ABCD+ABCD using Boolean 1aws
and theorems.
[OR]
b) Solve: i) Binary addition : -123 and +74,

ii) Binary subtraction: -68 and -51.

13. a) Differentiate mux and Dmux.
[OR]

b) Demonstrate the working process of parity generator and parity
checker.

14. a) Discuss about computer instructions.
[OR]

b) Describe how the instruction cycle is functioning.

-3
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17. Derive the following with an example with and neat sketch. _ ' : :
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| END éEMESTER EXAMINATION — NOVEMBER 2020

a) Class specification b) Defining member functions

18. What are the three types of data conversion between uncompatible types?

Explain with examples.

19. Explain the following unformatted I/O operations with suitable example. T B.Se. IT ‘ Date : 0'2-01.2021 ’

a) Put() and get() functions b) getline() and write() functions - Course Code: 17UITC31 : Time: 10 am. to 1 pm.
20. What are the ways a file can be opened? Explain with neat sketch. Course Title : Object Orierited : Max 1\\'Iarks :75

Programming Using C++

SECTION - A  [10X1=10]
Answer ALL the Questions.
Choose the Correct Answer.
1. Insulation of data fromdirect access by the program is called
;[é] polymorphism \ [b} data hiding
[c] inheritance " [d] dynamic binding
2. The ___ is a multiple-branching statement where based on a condition,
~ the control is transferred to one of the many possible points. |
[a]if...else [b] do-while
 [c] for ‘ _ {d] switch - ‘
. The variables declared inside the class are known as data members, and
the functions are knownas |

[a] friend functions [b] member functions

[c] inline functions [d] nesting functions

‘ --4-_

=
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are normally used

to initialize variables or objects and to allocate

4.
memory.
[a] Destructor [b] Constructor overloading
- [¢] Consructors [d] Default constructors
5. The operator 1s unary operatofs could be overloaded?
a] - (bl +
fe} += | [d}:
6. When the properties of one class are inherited by more than one class, it is
7 called . ‘
[a] inheritance [b] single inheritanée
[c] hierarchical inheritance ‘ [d] multilevel inheritance
7. simply means one name having multiple forms.
[a] pointers - [b] biﬁding
[c] place holder [d] polymorphism
8. A lisasequence of bytes and serves as a source or destination for
an I/O data. A
[a] stream [b] padding
[c] precision [d] show point
9. The __ movesget pointer to a specified location.
~ [a] seekg() | [b] seekp()
[c] tellg0 [d] tellp()

10. To open an existing file for updating for updating without losing its

original contents , we need to open it an mode.

[a] update
[c] file

[b] append
[d] file pointer
a s

SECTION — B R =35\
Answer ALL the Questions.

11. a) Explain the ¢onditionally contrél statements with an example.
| [OR] |
b) Explain the following with neat diagram 1) Inheritance
‘ ii) Polymorphism '
12. a) What is a friend functions? What are the special characteristics of using -
friend functions?
[OR]
b) Describe the importance of destructors.
13. a) Explain how to use overlcjédi_ng binary operators with neat diagram.
- - [OR]
b) Describe the program of the single inheritance in C++.
14. a) How is polymorphism achieved at compile time and run time?
[OR]

., b) What is a stream in C++ 2 Explain the stream classes with neat sketch.

15. a) Briefly explain the following syntaxes with example.
i) seekg() i) seekp() iif) detecting end —of -life

[OR]
ctions with different

b) How the function template to be used in family fun

arguments? Explain.
SECTION-C [3X10=30]

Answer Any THREE Questions.
16. Describe the following with examples
i) Tokens ii) Enumerated data type
= BN
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b) Describe the breadth first algorithm with suitable example.

SECTION-C

Answer Any THREE Questions.
16. Explain about abstract data type.

[3X10=30]

17. Briefly about the implementation of queue.
18. Detail about the binary Tree Traversal with example.
19. Explain briefly about the radix sort.

20. Discuss about the representatioh of graf)hs.
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(Affiliated to Madurai Kamaraj University)
(Accredlted by NAAC with ‘B’ Grade)

| END SEMESTER EXAMINATION — NOVEMBER 2020

Programme :B.Sc.(IT)
Course Code: 17UITC32
Course Title : Data Structures

Date : 04.01.2021
Time : 10 am. to 1 pm.
Max Marks :75

SECTION - A

[10 X 1=10]
Answer ALL the Questions.

Choose the Correct Answer.

__ refersto the domain of values and the operations that can be
performed on these values.
[a] Data structure - [b] Data type _
[c] Algorithm [d] Abstract data type
2. Ih‘ allocation, the elements of the collection are stored in non-
c\ontighous locations.
[a] dynamic [b] static
[c] memory [d] lineaf
3. stack sets up an empty stack.
[a] Push [b] Pop
[c] Create [d] Top _
4. require incrementing the rear variable and storing the value.
[a] Deletion [b] Insertion
[c] Creation [d] Copy

]



5. Ina

[a] complete [b] skew
[c]BST [d] strictly
6. Searching starts fron\__;__ of the tree.
[a] leaf [b] interior
[c] root [d] node
7. The consecutive elements are compared and if they are not in order,they
are interchangedin _______sort.
[a] insertion [b] bubble
[c] merge [d] radix (
8. ____ sort is 2 modification of insertion sort it is applied on subsets of
input.
[a] Insertion [b] Bubble
[c] Merge [d] Shell
9.  ofavertexina diagraph is the number of edges that are incident
on it. )
[a] Outdegree , [b] Indegree
- [c] Length [d] _Path
10. A shortest path between vertices u and v is a path for which ______ is the
minimum. —
[5] wit(p) [b] p=v0,vL,v,...vk
[c] wt (u,v) [d] M[u][v]

binary tree.nodes cannot have only one child. -

11.

12.

13.

14.

15.

SECTION — B

‘ SR =3\
Answer ALL the Questions.

a) Define data structure. Write the types of data structures.
[OR] /
b) Describe the asymptotic analysis.

a) Discuss about the linked list implementation of stack.
[OR]

b) Write the algorithm for circular queue delete operation.

a) Describe the types of binary tree.
| [OR]

b) Draw an expression tree to represent 3+((5+9)*2)

a) Consider the foﬁowing input:8,4,7,1,3,5, Sort the list using heap sort
algorithms.
| [OR]
b) Write the algorithm for bubble sort.

a) Discuss the Prim’s algorithm to determine minimum spanning tree of

the following graph.
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&.T.N. ARTS COLLEGE (auroNnoMOUS)
(Affiliated to Madurai Kamaraj University) ; |
~~ . (Accredited by NAAC with ‘B’ Grade) _ \
. END SEMESTER EXAMINATION — NOVEMBER 2020 .

” Programnie : B.Sc., IT) _ Date: 05.01.2021
Course Code: 17UITA41 Time: 2 pm. to S pm.
Course Title : Numerical Methods Max Marks :75 -
. ~ SECTION - A [10X1=10] -
Answer ALL the Questions.: -

Choose the Correct Answel_‘.

1. The equation x* +5x+6=0iscalleda___

[a] transcendental equations [b] algebraic equation
[c] quadratic equgﬁon inx  [d] linear equation
2. One root of x* —3x+1=0 lines between and
[a] (1,2) [b] (-1,0)
€123 [d] 4,5
o a, 00...
3. The matrix 4=|a,, a,... 0 | iscalled
anl an2 o ann
[a_] upper triangular matrix - [b] lower triangular matrix
tcj diagonal matrix [d] rectangular matrix ~ ° /

4.1f A is diagonal dominant, the system of simultaneous linear equations is -

said to be
{a] diagonal dominant system [b] diagonal system
[c] leading system '[d] pivotal system
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5. The polynomial y, =y, + P4y, +£—(‘§'———12A2y0 +....

plp-1)..\p- n-1
+ (p) (‘ ( ))A"ynisknownas
n:
[a] Newton’s forward interpolation polynomial
[b] Newton's backward interpolation polynomial
[c] Gauss forward interpolation polynomial
[d] Gauss backward interpolation polynomial
6. The iterative method, the first approximation to be
' 1
bl R=——(%,)

1
[a] B %Zy—a(y,,—yo) "

i ' 1
[c] A =A—y—(y,,—yo') ' [d] A =‘Z;;(yo—y,,)

P

7. The process of evaluating the definite integral J' f (x)dx is called

[b] definite integral

[a] numerical integration |
" [d] non-numerical differentiation

[c] numerical differentiation -

8. J:f(x)d":g[(% +}’,,)—2(y1+y2+...+y,,_1)] is known as
Xy

[a] Simpson’s rule [b] Trapezoidal rule

[c] Gauss rule [d] Lagrange’s rule

-

2

9. The expansion y, = +.'l who
p yz yo 1!)’0"' Z!yo .

is known as

[a] Taylor’s series expansion
[b] Euler’s series expansion

[c] modified Euler’s series expansion
[d] Runge-Kutta series
IQ. The third order Runge-Kutta formula is given by

. 1 -
[a] ¥ =y, +(3(K_1 +4K, +K3))
1
[b].yo =W +(‘6‘(K2 +4K, +]{3)J
[C]v)ﬁ =Y +(‘;‘(K1 +4K, +K;_‘))

[d] », =, +(§'(Kl L) ¢ +K3)J

SECTION -B
Answer ALL the Questions.

[5X 7=35]

11. a) Find the real root of the equation %’ —3x+1=01lying between 1 and 2
correct to 3 places of decimal by using bisection method.”

[OR]

b) Find the smallest positive root of x* =log, x—12=0by Regula falsi '

method.
12. a) Solve the following system of equation by Gauss Jordon method.

Cx+y+z=9; 2x-3y+4z=13; 3x+4y+5z=40
| [OR]

-7
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b) Find first two approximationsfor the following equations using

15. a) Using Taylor’s method, find (0. 1) correct to 3 decimal places from
Jacobi’s iteration method.

~ dy
‘ —+2xy 1y y0 =0. with y, =
3x+4y+15z = 54.8; x+12y+32=39.66; 10x+y—2z =7.74 dx
[OR] N
13 a) From the data given below, find the number of students whose welght is

between 60 and 70. - b) Using Euler’s method solve % =1+xywith y(0) =2. Find y(O 1)

Weight | 0-40 | 40-60 | 60-80 80-100 - 100-1;0 | »(02) and (0. 3).
Ro. of ' - : - = '
250 120 100 70 50 ’ ' BECTION ¢ I, 220 30]
Students ; Answer Any THREE Questions. ,

16. Find the nege{tive root of x* —2x+5 =0correct to three places of decimals

[OR] by the Newton-Rapson method.

b) Apply Gauss forward interpolation formula to find (25) for the | 17. Solve the following system of equations using Gauss Seidal iteration

following data. _ method. 6x+15y+2z="72; x+y‘+542=110; 27x+6y—z=85i
X| 20 | 24 | 28 | 32 18. Using Gauss forward formula find f (30) from the followiné data.
| Y [ 28543162 | 3544 | 3992 - 21 T o = _
| - _ f (x) 18.4708 17.8‘144' 17.1070 | 16.3432 | 15.5154
14. 2) Find & an 2’ ’ '

19. From the following data obtain the first and second derivatives of

“log x, ati) x=500, ii) at x= 550

50 60 70 80 90
Y | 19.96 | 36.65 | 52.81 | 77.21 | 94.61

x 500 510 520 530 540 1550
) [OR] » ‘ ' y=log,x | 62146 | 6.2344 | 6.2538 6.2729 | 6.2916 | 6.3099
. .5 , . h . . .
b) Evaluate J’ 7 diS by Trapezoidal rule using 11 coordinates. %0. Using Runge-Kutta method of 4 order for the differential equation |
x .

0

%=W+y2, ¥(0) =1, compute y(0.1)and y(02)

e ' . -




18. Explain normalization.
- 19. Write notes on exception in PL/SQL.

20. Discuss on the issues related to security.

Reeo || | L VT T T 1Y

G.T.N. ARTS COLLEGE (auroNomous)
(Affiliated to Madurai Kamaraj University)
(Accredited by NAAC with ‘B’ Grade) -

END SEMESTER EXAMINATION — NOVEMBER 2020

Programme :B.Sc. IT Date : 02.01.2021
Course Code: 17UITC41 , Time: 2 pm. to S pm.
Course Title : Relational Database ‘Max. Marks :75
Management Concepts .
SECTION-A . [0X1=10]
Answer ALL the Questions.

_ Choose the Correct Answer.

' 1 A desc;iption of data in terms of a data model is called as

[a] relation . [b] schema
[c] field - o [d] constraints |
2. Which constraints determine whether two subclasses are allowed to . »

~

contain the same entity?

[a] Specialized ‘ [b] Generalized
_ [c] Covering [d] Overlap
3. Expansion of IC is
[a] Internal Constraints [b] In‘temgl Cglumn a

" [c] Integrity Constraints [d] Integrity Column

~ ) ] ’-.-1 — ) N



is one of the two formal query languages associated with the

relational model.
1a) Relational Algebra [b] Relational Query
1<) Relational Calculus [d] Relational Domain
5. query is query thathas another query embedded within it.
[2] Select b} Single .
[c] Nested _[d} Union |
6. A isarelationship between two attributes.
[a] Functional Dependency [b] Normalization
[c] Trigger [d] _Decomposi?ion
7. A _____ isapointer to the content area.
[2] Cursor [b] Trigger )
[c] Packages [d] Errors
8. are stored program, which are automatically executed or fixed when
some events occur.
(2] Cursor [b] Trigger
[c] Packages [d] Error
9. means only authorized users should be allowed to modify data.
[a] Secrecy [b] Integrity
[c] Availability [d] Mechanism
10. ___ database contains specific information on individuals.

[a] Static [b] Statistical

[c] Algebraic [d] Dynamic

-2

SECTION — B VX =33\

Answer ALL the Questions.
11. a) Write notes on the levels of Abstraction in DBMS.
[OR]
" b) Describe Entity, Attributes & Entity set with an exémple.
12. a) E)Zplain how relationship sets without constrants its mapped to a
relation.
. [OR]
b) Discuss on domain relational calculus with an example.

13. a) Explain null Values..
. [OR]
b) Write short note on BCN7. -
14. a) Write a short note on function PL/SQL.
: [OR]

b) Discuss the package in PL/SQL.

15..a) List out the three fnain objectives of secure database applications..
Explain them in detail.
[OR]
b) Write notes on encryption.
SECTION-C

Answer Any THREE Questions.

13X10=30] .

16. Write notes on transaction management.

17. Discuss on Relational Algebra with an example

i
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END SEMESTER EXAMINATION - NOVEMBER 2020

Programme : B.Sc Information Technology Date :04.01.2021 )
Course Code: 17UITC42 Time: 2 pm. to 5 pm.
Course Title : Operating System Concepts ~ Max. Marks :75

‘ SECTION - A [10X1=10]

Answer ALL the Questions.
Choose the Correct Answer.

1. The link between two processes P and Q to send and receive messages is

called .
[a] communication link [b] message passing link
[c] synchronization link [d] all of the mentioned

2. To access the services of operating system, the interface is provided by

[a] system calls [b] API
[c] library ) [d] assembly instructions

3. Using semaphores, each process has a critical section used to access this

[a] computers [b] processors

[c] resources [d] users

/.
==




4. In a uniprocessor system concurrent processes cannot have

overlapped ‘ o
[a] access [b] termination
[c] completion [d] execution

S. A problem encountered in multltaskmg when a process is perpetually

denied necessary resources is called

[a] deadlock [b] starvation
5 [c]-inversion ' [d] aging |
Round Rubbin scheduling falls under the category of _
E [a] nonpreemptive - [b] preemptlve
= .
2

[c] nonpromptive [d] promptive

fixed size partition, the degree of multlprogrammmg is bounded

=}

[Salary
o
<

[b] CPU Utilization
[d] file size

[a] memory Size

[c] number of partition ' 7
Effective access time is directly proportional to
[a] memory access time . | [b] hit ratio
[c] page fault rate [d] turnaround time
Fach has its own index block.

[b] address

[c] file [d] process

[a] partition

Mapping of file is managed by
[a] page table [b] file system
[d] file metadata

=D

[c] virtual memory

[ID card_[Congpany Namc/Swn Businesy’

SECTION — B
Answer ALL the Questions.

VX1 =35\

"11. a) Describe about operating system components and goals.

[OR]
‘ bj Write about process states with neat diagram.
12. a) Explain about hardware solution to th‘e mutual exclusion problems.
| [OR] ’

b) Explain about Dekker’s algorithm for mutual exclusion.

< 13. a)-List out the four necessary conditions for handling deadlock.

[OR]

b) Describe about preemptive vs non preemptlve scheduling. -

' 14 a) Explain about fixed partmon multiprogramming.

[OR]
- b) Write abeut page fault frequency (PFF) page repIacement.‘
15. a) Explain about rotz;tional optimization.
| [OR]
b) DCSCI‘le about file system in detail.
SECTION -C ‘
Answer Any THREE Questions.

16. Explain about process management.

[3X10=30].

17. Briefly explain about semaphores. °
18. Explain about deadlock avoidance with Dijkstra’s bankers_algdrithni".
19. Illustrate any three page replacement strategies with examples.

20. Breifly explain about file allocation method with sﬁiteble exémple..
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SECTION - C [3X10=30]

Answer Any THREE Questions.

16. Write an essay on Ozone layer depletion.
@GFrer LLsv ufelBETer STFRID GUSHE SLO® 6T(RSHIS.

17. Give an account of ecological pyramids.
GWPedllwsd LIFWIPsen GNGSE LB QIMIE.

18. Explain various non conventional energy sources.
gy &TT uBmsd UBH afleurs.

19. Write an essay on air pollution and its control.
STHEHI WT&HUTH WHBDID DDSESLBUBHSHID (PMBEBSIT uB® eTp&HIS.

20. Discuss the need and approaches for conservation of biodiversity.
T usUIFOUmESSBET (LPESBWSHSHIOUD DS UTHISTES @D (pemmEs6IT
umns! %2:&
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END SEMESTER EXAMINATION - NOVEMBER 2020

Programme :B.A/B.Sc./B.Com/B.B.A./B. C.A. Date: 29.12.2020 -
Course Code: 17UESV51 Time: 10 am —1 pm
Course Title : Environmental Studies Max. Marks: 75
SECTION - A [10 X 1=10]
Answer ALL the Questions.

Choose the Correct Answer.

s

~

1. The most traditional word to refer our environment is ——----=====-= .
~ [a] Mother Nature [b] Queen nature
~[c] King of forest [d] Prince Nature
SDDIFGHED 6THIDMID aMfHMmGmLE GGG urfwuflworer QFmsd —-
[o1] Qubena Sisenet [21] Qubsnas sigd .
- [8] snhseist Syt [ 7] @E.&msm @eTeury & edT

2. The lowest layer of the atmosphere is ===-==-==----

[a] Ionosphere .
[c] Troposphere
aueMDewTIL 605 S6i S SIBEHES
[o1] swel wewi_sod [=1] Qeulin wessIL_6VID
[®@] LeyrGumeroLiwiy [F] WSCwimsrdLIwIy
3. Who developed ecological pyramid? R -

[b] ;oao%rono
[d] Mesosphere

[a] Odum [b] Haekal
[c] Charles Elton , [d] A.C.Tensley
SGODIFGI60 LITflenL. o  (heursdweuy wmy?
[o] gL (=] Ty
. 18] sugenio [*] elwimur)
4. Energy ------=----- in an ecosystem.

[a] is relased [b] is absorbed
[c] Flows [d] is balanced

Ll
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{ <1] 2915 62516 &6 L1 1B BB [ <4 ] = pfiebacnaGasma

D] 96FIme [F] swplemeotiGaIDE)
Which one is not an non conventional energy?
[a] B'io energy [b] Solar energy
[c] Tidal energy [d] Petroleum

\eieuHeusnenmBpIstt 61& WILUSFTIT  QBp6v?
(o 2 uifl subpsd (1] &fw auBmed
D) sene K BWEL [F] Qu_BgmeSuwid
6. Power production from urban waste was first started in the following city.
|a)] Delhi [b] Kolkata
1]l Mumbai [d] Chennai
UG b BEIHHOGBHE WHHWPHO0 baJ GUmusisd BRHHE!
Vet 2 _pBudsdd Qe nuniul L .
(o] Gusosd =) CarevassT
&) pwsou [#] Q&siremen
7. -—-———is known as “Jewels of the Earth™.
{2] Mangrove forest [b] Deciduous forest
<] Temprate rain forest [d] Grassland
yiulled suugemio .
(8] s@mioubee &rHeen [=21] @emeow 1B\ FETBS6T
18] GeuliossiL 60 W\PHSTBHSHET [F] usLOeueMEETGSH6IT
®. The best example of pesticite pollution is ------------ :
{2l DDT [b] Endpin
{c1 Endosulfan [d] Benzidineg
ors §HUEHEIL I EbaendsEe Finbs 2 _STYeuilD.

o) DDT (=) amsu?Luns&r_
13 aenGLnaeoLn e [f’] G\uaﬁeﬂspl_sm
9. ——- number of mega diversity countries is present in the world.
12l 9 [b]l 6
fc]12 [d) 15 o X
2 _cuEshgiey £ _6N6N o usLEUITeLmbEES HTBEH6N  61HSHen60
el 9 [en) 6
@112 {w] 15

10. The first biosphere reserve declared in lrlxgia]\;nl 1'9:6 1s
. 3ir fores gir A
\\‘:1] (i"‘:la{d::ircf:‘l\k [d] Agasthiy amalai

19BG-6 (VP 0BTV 5 43,0005 %9;'})45«2{7}:;:; i

B3 AT R SR 233 LammeaTGs Sl

L2 Ay &rBassh

L=3) BeodG
(@] upe [#) Simssvdwy wemes
SECTION-B [5X7=235]
Answer ALL the Questions.

11. a) Briefly explain about Global warming.
3l) 2 06 QeluWITIS UBN &Hmhbswns afsuf
] [OR]
b) Give an account of cloud bursting.
<) Guasbengly ubm efleufl.

12. a) Explain the structural features of an ecosystem.
Sl) GRHEN6Y LTI 0SS Diemiolienu ellsuf]. -
[OR]
b) What is food chain? Give its importance.
o) 2 emeyFEFRdel CHIDIe GE? ST (PEEUSHNGDS STWBE.

13. a) Give an account of different types of coal and its important properties.
i) Blevsasf) cUNSBEH6T IDMEBID SIS LIGHILSED6T siflsuif.
[OR]
b) Discuss the hydel power potential in India.
=) @pHurels BTl o puss Fmer upd eisuf.

14. a) Give a brief note on non-renewable and renewable resources.
o) USIIEsspW HDId USITss GSuieor 4Dmsv umn Fm &P
6UEMT .
[OR]
b) Explain the mineral resources in India.
o) @bHwreallet STl cusTIRIBEmaT  aleufl.

15. a) What is IUCN red list and explain different terms used in red list.
o) IUCN dAsiy uligulsd umm si&Is. Graurd Fauy ulRusssd
2 _siten Smmpudbssmen  alleufl.
[OR]
b) Discuss the causes of extinction of species.
ay) 2 uiflen sufelibsnet SIyauItiBmaT  allsur)



18. What is the difference between Pure Aloha and Slotted Aloha? Explain.
19. Explain routing principles and its importance. .

20. Discuss E-mail and its protocol.

/.
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. (Affiliated to Madurai Kamaraj University)
(Accredited by NAAC with ‘B’ Grade)

mZU SEMESTER EXAMINATION - NOVEMBER 2020

Date :21.12.2020
Time: 10 am. to 1 pm.

Programme :B.Sc., IT ,
Course Code: 17UITC51
Course Title : Data Communication &

Computer Networks Max Marks :75
SECTION-A [10X1=10]
Answer ALL the Questions. .
Choose the Correct Answer. :

1. The topology has a direct connection between every pair of

devices in the network.

[a] mesh [b] ring
[c] star [d] bus
2. OSI Model contains _w%on_vaoﬁoog for network communication.
[a] six o [b] seven
[c] four [d] five
3. Modem is a protocol similar to N-ZoaoB
[a]R | [b]S
[c]Y ‘ (d1Z

w1



4. A LAN that transmits data at 100 Mbps can deliver a given message faster

than a LAN that sends the data at

[a] 10Mbps « [b] 100 Mbps.
[c] 50 Mbps. {d] 1000 Mbps
S. wponn.a Aloha has the capacity of an Aloha system.
[a] double [b] single ,
{c] triple [d] equal
6. Circuit switching was designed for communication.
{a] voice [b] video
{c] cable [d] All the above
7. ICMP forms an integral part of all implementation.
[a]IP (b11T .
[c] IMP [d] INP
8. uses [P to carry message.
[a] ICP [b] TCP
[c] IMP {d] TMP
9. Most corporations choose to register under the domain.
[a] IN [b] .COM
[c] .EDU [d] .UK
10. The specifies how messages are sent on the internet.
[a] SMTP [b] STMP
[c] POP [d] IME

i,

11.

12.

13.

14.

F 15

16.

17

SR =35\

Answer ALL the Questions.
a) Write short notes on Network Categories.

[OR]
b) Explain about TCP/IP Architecture.

a) How does a single bit error differ from a Burst error? Explain.

[OR]
b) Explain Asynchronous protocols.

a) Explain Fiber Distributed Data interfaces.

| . [OR]

b) Write short notes on Ethernet Technologies.

a) Describe the principles of Internetworking.
[OR]

b) Describe user datagram protocol.

a) Enumerate file transfer protocol.

[OR]
b) Describe Hypertext and Hyper media.

SECTION-C

Answer Any THREE Questions.
What are the Types of Topology. Explain.

[3X10=30]

. Discuss the two Techniques of flow control.

e



“15. a) Describe the walkthroughs and inspections.
[OR]
'b) Write a short note on Debuggin

DO

SECTION-C
Answer Any THREE O:nmnoum.
16. Analyse the quality and productivity factors.
17. Enumerate the software cost factors. ,
18. Analyse the software requirements specifications.
19. Explain the design techniques.

20. Analyse the formal verifications.

/-

[3X10=30]
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SECTION - A [10X1=10]
Answer ALL the Questions.

Choose the Correct Answer.
1. Software project manager is engaged with sofiware management
activities. He is nowvommmzo for
« [a] project planning. . _ .
[b] monitoring the progress
[c] communication wBobm stakeholders

[d] All the above

2. What is the main aim of software engineering?

[a] Reliable software - [b] Cost effective software
[c] Reliable and cost effective =~ [d] None of E.m above
Software
3. Which phase is refers to the support phase of software development?
[a] Acceptance phase [b] Testing -
[c] Maintenance [d] None of the above

——

e



4. Cost of Production = Right the first time COS{(RTF+------- ) 9. From the following which quality deals with maintaining the quality of the

[a] cost of deployment [b] cost of Quality software product?
[c] cost of maintenance . [d] cost of Toacomom | [a] Quality assurance ‘ ?u Quality control
5. Which document is created by system analyst after the requirements are [c] Quality Efficiency . [d] Quality maintanence
collected from various stakeholders? - . 10. Debugging is .
[a] Software Requirement Specification T  [a] creating program code
[b] Software Requirement Validation [b] »,E&:m and correcting errors in the program code
[c] Feasibility Study E identifying the task to be computerized \
[d] Requirement Gathering o [d] Qmw:sm the amomz:u . :
6. What is the correctness, completeness and ooﬁﬁﬁd@ of the requirements SECTION -B . [5 X 7=35]
model will have a strong Emconno on the quality of all work products that o Answer ALL the Questions.
follow? . | 1L a) List out in detail the project size categories.
[a] Requirement quality [b] Design Quality [OR]
[c] Code Quality [d] Quality control om,ooaézoﬁ b) Describe Eo. other planning momismm in software project.
7. Design vrwwmwm followed by 12. a) Write a short :,oa on Algorithmic cost models.
" [a] coding ‘ . [b] testing . | [OR]
[c] maintenance [d] debugging . b) Explain the Estimating software maintenance costs. |
8. Which software designers tool helps to design the block structure of the 13. a) Write a short notes on a) Relational Notations b) Recurrence relations.
software, that may further be broken down in to smaller modules using o [OR] , :
refinement techniques? b) Explain the PSL/PSA. R
[a] Analysis tools [b] Design tools 14. a) Write a short notes on Modules and modularization critena.
[c] Configuration management tools [d] Documentation tools [OR]

b) Explain the detailed design considerations.

iy
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_SECTION-C . [3X10=30]
Answer Any THREE Questions.

16. Explain Constructors and its types in detail. - - ENDSEM mm._.m_ﬂ mX>3HZ>.q.HOZ NOVEMBER 2020
17. Discuss the different levels of access protection available in java. | Programme :B.Sc., IT Date : 23.12.2020
18. Write a program to draw any three geometric objects. * | Course Code: 17UITCS3 Time : 10 am to 1 pm.
Course Title : Java Programming - Max.Marks :75
19. Explain various HTML %wﬁmﬁ tags. :
20. mxm—m:_ various methods defined by Http Servlet Woncomﬁ Interface. : | . . ~ SECTION-A \ [10X1=10]
R Answer ALL the Questions.

--Choose the Oo:.ann Answer.

) : N : 1. 5:68 <m:wc_am in a class can be accessed through

) [a] object of the class . [b] another <m:mEn .
[c] methods declared as public [d] methods declared as private
2. All exception types are subclasses of the built-in class .
[a] throwable ~ [b] finally &
[c] catch ‘ [d] try
3. A class that is inherited is called
_ [a] sub class ;, ~[b] super class .
‘ 5, [c] main class o [d] inherited class

4 4. The keyword string in java isa
[a] class . [b] interface

E package ) [d] object

= 58 -1
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\ 5. AWT referred as . - SECTION — B B X7 =35\
[a] Array Window Toolset [b] Abstract Warning Tools Answer ALL the Questions.
[c] Abstract Window Toolkit [d] Applet Window Toolkit 11. a) Explain the features of JAVA programming.
6. Lines are drawn by : _ _ [OR]
. [a] putLine() [b] drawLine() o b) Define throw and finally statements with its syntax and example.
[c] paintLine() _ [d] fillLine( )

12. a) Write a JAVA program to sorting set of alphabets.
. [OR]

7. Which one of the following is not a method in Thread class?

[a] join . [b] run
[c] sleep [d] alive b) Explain with an example of JAVA program to define Protected access
8. Which one of the following is not used to anﬂ.a file objects? , specifier. \ |

[a] File(String directory path)
b
[c] File(File dirObj, String filename)

] 13. a) List out various main event classes in JAVA.AWT. event and define
c
[d] File(String filename, File dirObj)

File(String directorpath, String filename)
adjustment event class.
[OR]

b) Explain in detail flow layout with an example.

9. class is used to encapsulate both IP address & domain name.
[2] Inet Address [b] Content Handler 14. a) Explain the various steps in applet initialization and termination.
[c] Multicast Socket [d] URL Class Loader \ [OR]
10. are small program that execute on the server side of a web b) Write an example program in passing parameters to applets.
connection.
. . 1
[a] Applet [b] Servlet 15. a) Explain datagram packet constructors in detai
[c]AWT [d] Swings [OR] .

b) Explain in detail reading servlet parameters with an example.

- 3




15. mv List and vd.nbv.x define classes o,u.a.::‘:mmo:.
‘[OR]
b) Mention the techniques used by firewalls to control access and enforce
a security policy. .
SECTION - C

Answer V:% THREE Questions.
16. Explain the details of model for network security. ,

[3X10=30]

17. Describe public key cryptography.
18. Explain the details of hash function algorithm.
19. Describe about IP security architecture.

20. Illustrate different type of digital immune system.

Reg. No- / x/J l/!\/ N 4 /
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Programme : B.Sc. IT

Course Code: 17UITES2

Course Title : Cryptography and
Network Security

Date : 24.12.2020
Time: 10 am to 1 pm.
Max .Marks :75

— P
SECTION-A [10X1=10] .

 Answer ALL the ,C:amao.um.

Choose the Correct Answer.

1. -attempts to learn or make use of information ?,.WB the system
but does not mwmooﬁ mvﬁo? resources.
[a] Passive attack - [b] Active attack
[c] Traffic analysis . , [d] Security mnmow
2. is the scrambled message anzooa as output and it anwoc% on:
the plaintext and the secret key.
[a] Plaintext _ [b] Secret key
[c] Cipher text . [d] Public w@w. ,
3. " refers to the ability to change keys quickly and with a minimum of
resources. |
[a] General key [b] Valid key
' [c] Private key ¢ - Key agility

—1--
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_ hre decoy systems that are designed YO Yure a orentaal BAANSTE o %

MO plamEeNT bars s encodaed independently using the same 9.
away from critical systems.

[a] Honeypots

[c] Hostagent
programs can be used to accomplish

unauthorized user could not 2 accomplish directly.

L Pwoh DANK |
[b] Intrusion

- [d] Detection

Aoy as known as

{a] Cipher Biock Chaining (CBO) [b) Electronic Code book(ECB)

|c] Cipher Feedback (CFB) |d] Output Feedback (OFB)
S A funclion that maps & MESSage of any length into a fixed-length hash 10. functions indirectly that an

value, which serves as the authenticator as known as .
12] virtual function |b] index function [a] Worm [b] Virus
1<) hash function {d) decryptions [c] Trojan horse [d] Logic Bomb
& A message M transmitied from source A 1o destination B is encrypted
SECTION -B [5X7=35]

usig e secret hey N shared by A and B. If no other party knows the

AN R
[b] message encryption 11. a) What is the difference between passive and active security threats?
[OR]

Answer ALL the Questions.

[a] symmelric Encryvption
‘¢ public key encr) ption [d] asymmetric encryption
7 nrotocol obtained from the IPv4 protocol or IPv6 next header b) Briefly define symmetric cipher model.

ficld 12. a) Evaluate the criteria of AES.
(2] File transport [b] Transport Layer [OR]
[c] IP Address (d] Userld b) Explain the block modes of operations.
§ s valid certificate was received. but hen access control was 13. a) Explain the Diffie-Hellman key exchange.
| [OR|

applicd .the senger decided not 1o proceed with the negotiation.
b) Define digital signature. What are the properties a digital signature?

[b] Over flow
(d] Decode failed

Unknown
ntication over a

14. a) What are three threats associated with user authe

] Access denied
network or internet?

[OR]
services provided by PGP?

-

b) What are the five principle

= N




15. a) List and briefly define classes of intrusion.
[OR]
b) Zonmo:vﬂ:n techniques used by firewalls to control access and enforce
a security policy. ’
SECTION — C [3X10=30]
Answer Any THREE Questions. , -
16. Explain the details of model for network security.
17. Describe public key ogﬁomﬂwﬁr%.
18. Explain the details of hash function algorithm.
19. Describe about IP security architecture. |

20. Ilustrate different type oma.—m.:m— immune system.

===
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Network Security
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SECTION - A [10 X 1=10]
~ Answer ALL the C:amao.um. . |
Choose the Correct Answer.
1. -attempts to learn or make use of information from the system
but does not mm,aoﬁ mv\mﬁn? resources. \
[a] Passive attack [b] Active attack
[c] Traffic analysis [d] Security wmmow .
2 is the scrambled message produced as output and it depends on-
the plaintext and the secret key. |
[a] Plaintext [b] Secret key
[c] Cipher text [d] Public key ,
3. " refers to the ability to change keys quickly and with a minimun of
resources. _
[a] General key [b] Valid key )
[c] Private key [d] Key mm.__.:w

. [
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5. A WT reféerred as

[a] Array Window Toolset
[c] Abstract Window Toolkit

6. Lines are drawn by

‘ , ‘ SECTION — B "X =35, o
[b] Abstract Warning Tools

Answer ALL the Questions.
d] Applet Wi i : .
[d] Apple Wmdow TooHclt 11. a) Explain the features of JAVA programming.

[OR] A
- [a] putline() [b] drawLine( ) A - b) Define throw and finally statements with its syntax and example.
[c] paintLine() ' [d] fillLine()
7. Which one of the following is not a method in Thread class? ‘ 12. 2) Write a JAVA program to sorting set of alphabets.
[a] join . [b] run- - [OR] |
[c] sleep _ [d] alive - - b) Explain with ?n example of JAVA program to define Protected access
8. Which one of the following is not used to creat; file objects? specifier.
a] File(String directory path) : _ . :
Eb]] Fil ((St . © ditect th, String filename) 13. a) List out various main event classes in JAVA.AWT. ‘event and define
ile(String directorpath, : ; ,
] ' - adjustment event class.
[c] File(File dirObj, String filename) ' , aqu _ -
14] File(String filename, File JirOb) . | b) E ‘ lain in detail flow layout with an example.
9: class is used to encapsulate both IP address & domain name. ) xp.am _ Y | |
[a] Inet Address [b] Content Handler 14. a) Explain the various steps in applet initialization and termination.
[c] Multicast Socket [d] URL Class Loader ; [OR]
10 - are small program that execute on the server side of a web b) Write an example program in passing parameters to appletfi-
connection. 15. a) Explain datagram packet consfructo;s in detail.
let [b] Servlet [OR]
[a] App
[c] AWT . . [d] Swings

b) Eiplain in detail reading servlet parameters with,ap example. -

: _ ‘ S 1
i, . '




15. a) List and brieﬂ)" deﬁne classes of intrusion.
[OR]
b) Mention the techniques used by firewalls to control access and enforce
a security policy. \
SECTION -C [3X10=30]
Answer Any THREE Questions. - -
16. Explain the details of model for netvs{ofk security.
17. Describe public key cryptography.
18. Explain the details of hash function algorithm.

19. Describe about IP security architecture.

26 . Tllustrate different type of digital immune system.

e

.Course Code: 17UITES2
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" END SEMESTER EXAMINATION - NOVEMBER 2020

Date : 24.12.2020
Time: 10 am to 1 pm.
Max .Marks :75

Programme : B.Sc. IT

Course Title : Cryptography and

Network Security
-
SECTION - A [10X1=10]
Answer ALL the Questions. |

Choose the Correct Answer.

1. -attempts to learn or make use of information from the system
but does not affect systefn resources. ’
[a] Passive attack [b] Active attack
[c] Traffic analysis [d] Security aﬁack :
2. is the scrambled message produced as output and it depenas on:
the plaintext and the secret key. ‘ |
[a] Plaintext [b] Secret key
[c] Cipher text [d] Public key
3.

refers to the ability to change keys quickly and with mihimui'n of
resources.

[a] General key [b] Valid key

[d] Key agility
sl

[c] Private key



4. Each block of 64 plaintext bits is encoded msaovgmg:v\_nmmzm the same

key as known as .
[a] Cipher Block Chaining (CBC)  [b] Electronic Code book(ECB)
[c] Cipher Feedback (CFB) [d] Output Feedback (OFB)

5. A function that maps a message of any length into a fixed-length hash

value. which serves as the authenticator as known as

[a] virtual function
[c] hash function

_[b] index function
[d] decryptions
6. A message M transmitted from source A to destination B is encrypted
usifg a secret key K shared by A and B. If no other party knows the

key .

[a] symmetric Encryption [b] message encryption

[c] public key encryption [d] asymmetric encryption
7. protocol obtained from Eo IPv4 protocol or IPv6 next header
field.
[a] File transport
[c] IP Address

- 8. a valid certificate was received, but when access control was

[b] Transport Layer
[d] Userld

applied ,the sender decided not to proceed with the negotiation.

[a] Unknown [b] Over flow
[c] Access denied [d] Decode failed

.,

9. __ aredecoy systems that are designed to lure a potential attacker
away from critical systems. \
[b] Intrusion

° [d] Detection

[a] Egmvﬁoﬂm.
[c] Hostagent

“10. programs can be used to accomplish functions indirectly that an

unauthorized user could not a accomplish directly.

[a] Worm [b] Virus
[c] Trojan horse [d] Logic Bomb
SECTION -B [5X7=35]

i Answer ALL the Questions.
11. a) What is the difference between passive and active security threats?
[OR]
b) Briefly define symmetric cipher model.
12. a) Evaluate the criteria of AES.
| [OR]
b) Explain the block modes of operations.
13. a) Explain the Diffie-Hellman key oxormzmm.
- [OR]
b) Define digital signature. What are the properties a digital signature?
14. a) What are three threats associated with user authentication over a
network or internet?
[OR] -
b) What are the five principle services provided by PGP?

-
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SECTION - A [10 X 1=10]

Answer ALL the Questions.

( 'hoowe the (orrect Answer.

wupporl ennhles you (0 creale a range of map-based applications

wobility of android devices..

(hat leverage the n
|a| Coogle map [b] Embedded map

|o] Androld map [d] all the above

ineludon port forwardin process

g, stack heap and thread viewing,

detntly and sereen capture fucilities.

[b] DDMM

la] DDMS
|e] DDSS [d] DMDS
allows you to create simple Ul that align a sequence of child

views in either a vertical (or) a horizontal line. _ =
la] Linear layoul [b] Grid layout
[d] Relation layout '

|¢] Relative layout

-



10.

enables you to translate between street addresses and

N———
enable you to divide your activities into fully encapsulated reusable

e
~ components, each with its own life cycle.
[a] fragments . [b] layout
[c] intents [d] none

on menu items are visible in the overflow and expanded menus as

=

well as within submenu.
{a] Radio button

{c] Check box
are aKin to traditional cell based cartoons in which an image is

[b] List box
[d] Dialog box-

6.
chosen for each frame. )
{al Layout [b] Frame by frame
{c] Property [d] Canvas

enable your application to populate a piece of interactive screen

1.
real estate and embed an entry point, directly on the user’s home screen.
{2} App [b] Widget
{c] XML file [d] Pop up
8. use 2 surface view to render a dynamic display that can be
) interacted within real time.
[a] XML file [b] Line wall paper
{c] Home screen [d] Location
9. is an important consideration when your application uses the user’s

location-particularly when it is regularly updating their current position.

[a] Privacy [{b] Known location

[c] Geocoding [d] unknown location

-,

12.

11.

13.

14.

15.

longtitude /latitude map coordinates.

[a] Map {b] Geocgd'u}g
[c] Location based [d] None
SECTION-B [5X7=

Answer ALL the Qliesﬁons.
a) Write about the native android application.
[OR]
b) Explain about android virtual device manager.

a) Explain about the gndroi_d widget tool box.
| | [OR]
b) Explain about native android actions in intents.

a) Summarize the concepts of creating different ways of notification for

users in android.
[OR]

b) Discuss about the animations and its types.

a) Write a short note on camera setting & image parameter.
[OR]

b) Discuss about the audio effects.
a) Write about the (i) Location Privacy, ii)Finding the last known location.

[OR]

b) Explain about the distributing applications.

o T
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| 14. a) Explain the three steps in the methodology for
N performance testing. \ '
) [OR]
b) Define regression testing. Explain the types of regression testing

with neat diagram.

15. a) What are the various test processes in test plan? Explain.

[OR]
b) Explain the various development defect metrics with neat diagram.
" SECTION-C [3X10=30]

Answer Any THREE Questions.
16. Derive the static testing methods and static analysis tools.
17. Write down the methodologies available to decide the order for
integration testing.

18. Describe in detail about any four non-functional testing with diagram.

19. What are the different methodologies for regression testing? Explain wifh

figure.
20. Describe that different organization use different methods of test

defect metrics use with suitable diagrams.

-
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SECTION -A [10X1=10]
Answer ALL the Questions.
Choose the Correct Answer.

1. is the process of evaluating a system or componexit during or at

' the endofthe development process to determine whether it satisfies ‘

specified requirements.

‘[a] testing [b] verification -
[c] validation [d] quality
2. | testing takes into account the code, code structure, internal
- design and how they_ are coded A u .
[a] static [b] black box
[c] white box [d] structural

3. Testing done to ensure that the product features work consistently

" with different infrastructure components is called testing.
[a] positive . [b] negative -
" [c] graph based [d] compatibility

acllion
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£ : integration means that all the components of the system are 9. In order to have a better handle on the size estimate, Yhe WOk 1o bt Aone As

integrated and tested as a sing 1‘3\ unit broken down into smaller and more manageable parts called

[a] top-down [b] bottom-up * units '

[c] system [d] bi-directional | [a] activity break down structure [b] lines of code

5. To evaluate the ability of the system or an independent component of the [c] work breék down structure [d] robustness
system to perform its required functions repeatedly for a specified period 10. metrics combine several measurements and parameters with
~of time is called testing " effort spent on the product‘;
\a) stress : bl scaliability ' | [a] project ' ~ [b] progress
{¢] reliability 41 pex;fofm , ‘ "~ [c] productivity : [d] test defect

6. testing is done to show that the product does not fail when , ' ’ SECTION -B [5 X 7=35] '

unexpected input is given. Answer ALL the Questions.

8l Fomive ' [b] State based " 11. a) Define the following :
{c] Compatibility [d] Negative i) testing ii) - verification iii) validation
7. requirements are those that are common across all products in [OR]
the product domain area. ’ b) List and explain the the various types of code coverage testing.
(2] specific [b] performance
_ . = p S I
<] collecting [d] generic 12. a) What is meant by black box testing? Explain why the overa
8. A testing is done between test cycles to ensure that the defect functionality verification of the black box testing is done.

[OR]

fixes that are done and the functionality that were working with the earlier
b) Evaluate any two methods to evolve scenarios testing with figure.

test cycles continue to work
[a] re-testing [b] regression 13. a) Briefly explain any three techniques to be performed for functional

[c] regular regressfon [d] final regression system testing.
[OR]

b) Discuss the functional testing and non-functional testing.

sl
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15. a) Explain the role of educational institution in value education.
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[OR]
b) Explain peer group in value formation. G.T.N. ARTS COLLEGE (AuronOMOUS)
&) “‘@UuTy G asumS ellaTdbeEo. - (Affiliated to Madurai Kamaraj University)
: : : (Accredited by NAAC with ‘B’ Grade)
SECTION -C [3X10=30] END SEMESTER EXAMINATION - NOVEMBER 202(
Answer Any THREE Questions. \ .
Programme : B.A/B.Sc./B.Com/B.B.A./B.C.A Date: 29.12.2020
'16. Write about the significance of values and individual. Course Code: 17UVEV61 Time: 2 pm — 5 pm
. edqpuiwiiseilenn ApLLIDFRIGET  WHBHID Sl WwaNE el PLLFIEm6TULID Course Title : Value Education Max Marks :75
. GHES IDYE. . ,
0 SECTION -A , [10X1=10]
17. Write an assay on religions and peace. _ \ Answer ALL the Questions.
FOLURGEDD SEMLAUD a6us GHHH ELEMIsS. Choose the Correct Answer.
18. Write an essay mdmuca rﬁdg.ﬂmmg.m and .._Enonmsoo of r:E.HﬂS lm_ﬁm. . 1. Value on the taking care of one’s body of a person i =-meme--ie--,
~ oailp 2 flenioseit @28@9 @&%E@@E EWemer LB S BenIéHs. [a] physical value [b] special value
G ‘Write about Hawa Spirit and development. , g _m_o_mwmwﬂw_ <MMM._ G oo PW Ms Nﬂomﬁﬁﬁ%@ G,
@i 2 b G ubmedsn eusniEAud GNSSI umys. . [ e Lesmbs ' [ey] wanp FTIBES
20. Who is your role model? Why did you choose to be s0? , [@] sepsmuid MBS [ 7] pwdas Gpm
o GIgILeNLUI UTRSMSESTEN (WPnorgfl wiry? Belly &ma SieuTSmeT 2. : is a belief of our noiaﬂmum abilities.
CoTBOBBHBS)Hei? : [a] Self confidence ‘ [b] Self evaluation
, . _ "~ [c] Tolerance [d] Hard work
‘ - - GIHILGI SHOGH FHS MWD HDENOEDWIUD BLOLGUSI. >
[o1] seemblsms [«] swiogOiG
[@] Qurpsssd  [F ellemgpwipd
3.-Which religion celebrate Ahimsa as their main quality?
[a] Buddhism [b] Jainism
[c] Sikhism [d] Christianity
SIQBIDME 6TEH iDL, LIEHIEND QST NGID- WHD 61517
[o1] usswzw - [=s] 5o wD
H@u FeaEW HD [¥] Snflerogieuogid -
4, —ememmsn .is the efficiency characters of motivation, :m&ig_ﬁ carefulness,
seriousness. o .
, —l— [a] Patience ~ o - [b] >=mQ
[c] Courage > , [d] Experience
wl)ea ,




e e

[a] value from human behaviour o) value N art and Ateraty
TS

[®] suonevio et [ rates of
. [*] oigueu c] rules of society a) iden an
- 5. Consequence of social integration i D SIPBWd I 6L ﬂ@@_msrcm ﬁ@wﬂwhﬂw e
[a] economic growth [b] right to education (2] wals pLgsmsuia weiy L] @emev wigb BeosBuISSe
[c] social development [d] all &y
: ] all of these [ i .
FUps QDLW elsnemeyssi : 8] swasde wHiy [7] waCsmsTmasasi
(o] Gur@stisty susnisa (<] ®6 )
<] sSsvalwniey Qumssy - .
(Bl swstw watamBpn [#] @%258&@@%_ ? _ SECTION -B . [5X7=35]
6. Which of the following is not required for competence development? Answer ALL the Questions. ,
{a] Commitment [b] Experience 11. 2) How do you consider self discipline, compassion, forgiveness and
{c] Observation [d] Ego honesty as values? .
LosILUBHO 5 UBWD oueTTENSE Coenaulsoenss? o) FU 9UESD, Brési, wsieliy, Griow afunhls iy
(=] Qurgiin, =] sigiueub LGWILIEEDET SaDich.
(Ble b Gpréssd [¥] sismisTrD ‘ o . ~ [OR]
7. Freedom, Equality, Fraternity, Tolerance are principles of . o) Whiabis courage? Write the importance of courage.
[2] democratic functio ning [b] accoun 89—.5\{ Q) OSFWID eTeImmsd eTeien? SISH (PSESSHIUSDS 61(195I5.
[c] learning process [d] none of these : :
) . '£ pro ) ) I no - 12. a) What is karma? Give an example
FSHHHITD. &Fid . &6 . 5 PR i )
@NWWW:@&% ﬂﬂﬂ%ﬁ@ STSIHBIUD, FEUUSSHHDID yaw S)) &I CHDID CHM? ABHS TBSBBSNE HMHa.
B . . o . [OR]
ﬁmwu Wﬂ“%ﬂm%@@%ﬂﬂ%ﬂ” MM%:@&Q TW% MN:MMMQ%@QMWMM% b) What is the need for religious harmony?
. ) oeNlemESSHT  Sieudlg .
8. The common values of all the professions are 5 Rl B Bl
[a] Acquiring knowledge [b] Commitment 13. a) Define Democracy. State the importance and types of democracy.
{c] Sincerity [d] All the above S) LESNMMLF EHLMS UMIWID. SISO U (PESELSSIOUSMSILLD
Gampst &FMhs QUIZ WHUL aeTILS 2 SIBHA UNSHMENUD FnDI.
ol
(o] sme; Cumeg (=] sirhuemiiy [OR]
@] Cxjemio [F] @emen simENBHHID * b) What are the issues of social integration?
9. The statement “Value educational for peace, culture and human Q) FWWE YOHMWULT.BEG SOLULITEN STTeRidst WTsneu?
development form India to the world” was given by . . .
[a] Mahatma Gandhi [b] Swami Vivekananda 14. a) Explain respecting others / reverence. .
[c] Dr. B.R. Ambedkar [d] Jawaharlal Nehru S1) Umpeny  wfluwimengu s Erm@mww_ upy efens@s.
1oF: W Seoalluilen cpsuld i GeonFnID, weflgh eueniFdl GuTEIMmensy . e
@W&Hﬂ%g SmbEH! %P?BBE_ m_aMwm@_ GuibLweney” 6160Im  FnbBm b) Explain the democratic functioning and what do you understand by the
: o :
Fafwieuy wimiy? term rozowc.f . o . o o )
[=1] warsHwor SHTHS [x]) soumb elGeussenhsi 2) WABIWSSHE (pevpsmens Uy ellensEs, wHgID GHyaio Lo
[@] Dr.B.R.s1bBugai [#] egeuaunieved Gme B oufleug wigl? . ,
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13. a) Write a note on Secularism.
1) wswwmawmw GUSS @k GO TILDIS.
[1v60z1]
b) Explain the importance of social justice.

- ) Fps Beluller WPEIWSHIUSMS 6leNHGHS.
14. a) Discuss the various aspects of team spirit.
e;|) Fal® Q,ou_l;geﬂuj]sm usLBeauml SibFRIBeNETL LMD s)ﬂeurrg_,’]&asmm

: [swdeoz]
b) Explain the terms ‘Integrity’ and ‘Commitment’

<) ‘G®LLUTE LHEpID ‘SFuumiiy adp CFrpamen almsds.

15. a) Explain the important values created by family.

) GHLUSHSTL 2 _Fmardsuul L (PSHBWITET WSHLIGmeT allend&s.

[os06051]
b) Discuss about role models.

) WwenorHTEen ubnl elleunrsésayb.

SECTION -C
Answer Any THREE Questions.

[3X10=30]

16. Explain the need for value education in detail
wHlsscalulea smdwsmsit ubn elfleurs elend@s.
17. Discuss about love and justice in Christianity. :
SBeOBHUGH0 ST WDHID BB uB®  efleuraéseayb.
18. Write in detail about human rights.
weahls 2 fenwasen uBml eufieurds SIS,
19. Explain the following professional values.
(a) Accountability (b) Willingness to Learn
Ueieumid Gsmblsdpsms wHsemen ellerd @s.
(1) Qurgliemr j&a () sBEsGsTsTen all@UuD
20. Describe how values can be promoted through educational institutions,
Seva HDMIUATRIGET . (PevLD FHIILEenen sieueur @l GobL{Bd Hnevtd
LS elleufldsayLb. '
el

UIE N S W Wl

G.T.N. ARTS COLLEGE (AuTONOMOUS)
(Affiliated to Madurai Kamaraj University) .
(Accredited by NAAC with ‘B’ Grade)

END SEMESTER EXAMINATIONS - APRIL 2021

Date: 16.06.2021
Time: 10 am — 1pm
Max. Marks :75

Programme: All UG Final Year Students
Course Code:17UVEV61
Course Title : Value Education

SECTION - A
Answer ALL the Questions.

'Choose the Correct Answer.

[10 X 1=10]

~ 1. Taking care of one’s body, so that it can take care of the person is-called

values. =
[a] Mental [b] Physical
[c] Social [d] Spiritual
omeuflest 2 _Lemev SeualisGlids QEmeiteugl WHMmId Sibd HUMT SeualisSis
Qa&meieugl -—--—— HNLIE6 6THIH DIeMIPESSLILIBEIBS!.
[o1] wembd [21] 2 Led "
[8] #eps [F] @i “
2. means working without having command from anyone.

[a] Self confidence [b] Self Discipline

[c] Self-initiative [d] Empathy
wrflLl®isn sl emen Geveomosd Geousmey QFWlaNEH ——-——- STEILSTELD:

[o] saamblisms [=1) 6w Qs

@] 5w wwpd [*] ussrsTLD

3. is the retirement stage in the life of a Hindu.
[a] Vanaprastha [b] Brahmacharya
[c] Grihastha [d] Sanyasa
=, .

<

=
o
X



13. a) Write a note on Secularism. : » vReg.Noz\ \ \ \ \ \ \ \ \ \
1) w.q:wrrmmsmw GUHE @ G TWSHIS. : '
G.T.N. ARTS COLLEGE AutoNOMOUS)

[owedevgi]
b) Explain the importance of social justice. (Affiliated to Madurai Kamaraj University)
(Accredited by NAAC with ‘B’ Grade)

o) Faps BT WHSLSSIUSMS 66T EEH. | ’
END SEMESTER EXAMINATIONS - APRIL 2021

14. a) Dlscuss the various aspects of team spirit.

‘9') LG bl uGoip SibsmmmeTil L smsurr@asessqw Programme: All UG Final Year Students Date: 16.06.2021
lowdeogi] » Course Code:17UVEV61 Time: 10 am — 1pm
b) Explam the terms ‘Integrity’ and ‘Commitment’ Course Title : Value Education Max. Marks :75
o) ‘@mEbLUTG LHEIL ‘SRl eI Qembsemen elend &s. .
| ‘ | . SECTION - A [10 X 1= 10]
15. a) Explain the important values created by family. . < Answer ALL the Questions. ~
Sl) GOLUSSTEL 2 _HaITSESULLL  (PSSWIDTET GILIGmen allend@s. ' Choose the Correct Answer. '
[ois06051] : 1 Takmg care of one’s body, so that it can take care of the person is-called
b) Discuss about role models. ‘ |l values.
é},) (psiondfisst uBm elleurdlssab. ' [a] Mental . [b} Physical
: [c] Social - [d] Spiritual
SECTION -C , [3X10=30] omauflet 2 _Lenev Sauallsgis Q&g WHDHLD Sibd BUMT Selalssbld
] Answer Any THREE Questions. Q@ meiTauE ----— - WWFNLBET 6TEIH DM SSIIBSIBSI.
‘ [o] wend [=4] 2L 6D 5
16. Explain the need for value education in detail ] ;
‘ wHiLEssoaiule SieufwdHensl LB ai]ﬂ’lsurr&, a6 @& . (@] sepes . . . [F] ysimse
17. Discuss about love and justice in Christianity. , 2. means working without having command from anyone.
BHPeosaubHe S B B uBS eleuTsldssab. - - [a] Self confidence [b] Self Discipline
- 18. Write in detail about human rights. [c] Self-initiative [d] Empathy
wefld 2 fenwser UBM aufleuTs 6TIDHIS. - : .
19. Explain the following professional values. W“m'—@@ff)@!m ?5"—‘76‘”6“ @eveomosd Geuemev GlFieugl - STSILIS TS LD:
(a) Accountability (b) Willingness to Learn [=i] gsmsmmljl.assms =] em.u 9@5.&0 -~
Ueneumo Qsmigledpenns wHysenst elend @& sb. [@] i (_BDLUID N . . [fF] HEFABMLD
(o) Gurpiiem &R (1) SHmIGOSTsTeT ellElLD 3. s the retirement stage in the life of a Hindu.
20. Describe how values can be promoted through educational institutions. [a] Vanaprastha ) [b] Brahmacharya
Sevell HBICUCITRIGET . (VLD DI EMET 6T6U6UT [ Gwu®Bs S TevLd [c] Grihastha [d] Sanyasa
sTeiLIEng  alleufisbseaib. ]--

.



———  GTOMIGI @05 BBl ump S ensUilstt @UIRLSIUL BleHEOUITESLD.
[=1] eueorCiilgerogsm [=4] Wy wFFTRuT

[8] &famabsT - [F] senumeT
_is the holy scripture of Christianity. .
{a] Quran o [b] Bagavad Gita
~ [c] Adi-Granth [d] Bible
*ﬁ\ﬁm@mié\m UeRS EIED - SRS,
o) @yaast (o) vsas Sos
\@'\ af — Hibd (%] emudeir
3. ____ s a government of the people, by the people and for the people
\a\ Secularism Ib] Socialism _
\¢\ Democracy 1d} Gender Justice
e eeE DESHENEN, \DHHENT6D, DEHEHHHTE DEDIDESBLLIL L
SPEFTHS\DTGD. : ‘ ' :
A - o\ wassTisRm L) Gung ©_6DL 6DID
- @) Renpnusn : (] umedien "Bz
6. Our Constitution guarantees fundamental rights.
{2l five blsix
1<\ seven B 1dl elght ' _
- —HD SPYHRUWeLMDUILY em.\_lusm\_ a_\j\smmas@as@ Lg,g,emrrg,m
SHNEEBE.
Lo 265 (=] s
- Blaw (7] e ®
7. ___is the state or quality of being adequately or well qualified.
[a] Competence [b] Team spirit
[c] Accountability 1d] Honesty

‘eletLE CUITSHIOTEN SiDeVEHI HELEY HGS UMUIbS SHILOTGLD.

(o] Smen (] i@ wpubd
[B] Gurgiw e [#] Gpyemio
8. Who should follow the professional codes of conduct evolved by the Bar
council?
[a] Teacher [b] Doctor
_[c] Accountants [d] Lawyer

e,

SUPHBEGHMIEHT SHIPSHBID D HeuTdHaslul Qgmded APEDED  BL_HEDE,.
EEM(penmEemen WMy Nedtumm Ceuesst GLd?

[ suffuy [ERRLIGEEA0 3
(@] semsmrense [7] eupsEMieny
9. s one in which parents and their unmarried sons and daughters
live together? ‘
[a] Nuclear family [b] Extended family,
[c] Joint family [d] Large Joint family

—————— sTetgl QUi CmTya E1pLd - é{ﬂ!ﬂ&@@)l_lu gg’l@wsamwfrasrrg, wasma;@w
D& 6115 (ETHLD - PETTMBITES EUTDEUSTESLD.
o] peaflse@wuD
(8] 8oL BB G GBLOLILD,
10. Who is the founder of Microsoft?
V [a] Narayan Murthy
[¢] Premji
" emLo&GITETLigesT B mieuenty wimy?
[o1] mrymwesr cpjss)
[8] 9Cybgg)l

[a;] BLIQ&S S L @@‘lbl_ﬂb '
[F] Quiw &l BSE&BLHULD

[b] Bill Gates
[d] Steve Jobs

[=4] Le0Bs L erd
[FF] erOI06%  gRILIETD

- SECTION-B
Answer ALL the Questions.

[5X7=35]

11. a) Discuss the significance of values.
' i) wQLq&,erﬂsoT (WpSBWsSHINDd bl elleurslssayd.
[svevgi]
b) Write a note on self confidence.

o) saEbisms GHSS 96 GUILY §WHs.

12. a) Explam the five principles of Islam.
S1) @erosomLdlest gl}';@] QB TeTenE Hemer MeNS & S.

[oeveogi]
b) What are the duties of a Sikh?

) @ FEBWFST SLEMDSST sT6T601?

3--



SECTION — C I3 X10=307] -

Answer Any THREE Questiqns.
16. Explain briefly about android development tools.

17. Explain about the native android activities.

18. How to create ' menu in android application and explain with example.

'19. How to record the video using media recorder. Explain.

20. Explain briefly about configuring the map views.

il

Reg. Nos \ N\

= N\ — NN NN NN
G.T.N. ARTS COLLEGE (AUTONOMOUS)

(Affiliated to Madurai Kamaraj University)
(Accredited by NAAC with ‘B’ Grade)
END SEMESTER EXAMINATION — APRIL 2021

Programme: B.Sc. IT Date: 17.6.2021
Course Code: 17UITC61 Time: 10 am. to 1 pm.

Course Title.: Android Programming Max. Marks :75
SECTION - A [10X1=10]
Answer ALL the Questions.
Choose the Correct Answer.
1. Android applications are written using the language.
| [a]C ' [b] C++
- [c]Java [d] Pascal

2. The DDMS tool is fully integrated into and is available
~ from the DDMS perspective.

. la] Eclipse | [b] SDK
[c] AP [d] CDD

3. View Groups that perform the former function are generally

referred to as

[a] Fragments [b] Layouts

[c] Surface View [d] Adapter View

e




o e ———————————————1 R e
4. We can create your own Adapter classes and build your own
derived controls.

[a] Surface View [b] Adapter View

[c] On Activity Result [d] Activity Intents

5. We can specify an alternative graphic using the

attribute. ' 3
[a] Android:icon bl android:name
{c] android:logo [d] android:theme
6. A group is a group of items displaying circular buttons,

in which only one item can be selected at any given time.

{a] radio button [b] Checkboxes
{c] Icons .[d] Intents
7. embedded in to an application are hosted within the
parent application’s process. ~
[a] Widgets [b] Layouts |
[c] Views [d] Broadcast -
8. include 2 series of methods that provide access to

many of the properties and methods available on native views.

[a] Widgets [b] Remote Views
[c] Broadcast [d] Wall paper
9. is the base class you extend to create an act1v1ty that can mclude
a Map View.
[a] Map Activity [b] Map Controller
[c] My Location Overlay [d] Overlay

-

10. The

use saw web service to \mp\ement its \ook up that
may not be included on all Android devices. '
[b] Geo Coder

[d] Map View
[SX7=35]

[a] Reverse Geo Coding
[c] Forward geocoding
SECTION -B
Answer ALL the Questions.

11. a) Write the features of Andr01d
| [OR]- -
b) Describes the Android Architecture.
12. a) Discuss about the layout classes available in the Android SDK.
OR]
b) Write the Android Fragment Classes. .
13. a) Describes the way to implement a dialog in android. 7
. [OR]
b) Discuss about the specialized input dialogs.
14. a) Write the components of creating a widgets.

[OR]

b) Describes the Widgets attributes in android projects

15. a) List the classes used to support android maps.
[OR]
b) Write about the adding and removing overlays in

Applications.
3



15. a) Write about . identifying resource requirements.

[OR]
b) Explam the test reporting in software testmg

SECTION-C
Answer Any THREE Questions.
16. Explain detail in Life Cycle Model in software testing.

[3X10=30]

. 17. Demonstrate the scenario testing.

18. Elaborate multiphase testing model.
19. Analyse the methodology for selecting test cases.

20. Elaborate testing tasks size and effort estimation in software testing.

/-

e LI T VAN

(Affiliated to Madurai Kamaraj University)
(Accredited by NAAC with ‘B’ Grade)

. END SEMESTER EXAMINATION - APRIL 2021

Programme: B.Sc. IT
Course Code: 17UITC62

Date: 18.6.2021
Time: 10 am. to 1 pm.

Course Title : Software Testing Max. Marks :75
SECTION-A [10X1=10]
Answer ALL the Questions.

Choose the Correct Answer.
1. Which of the following term describes testing? -
- [a] Finding broken code -
[b] Evaluating deliverable to find errors
[c] A storage of all projects

[d] none of the mentioned

| 2. What is cycloramic complexity?

[a] Black box testing [b] White box testing

[d] Gray box testing
3. Which testing is used when shrlnk-wrapped software products are being

~ [c] Yellow box testing

established and part of an integration testmg"

[a] Integration testing [b] Validation testing

[c] Regression testing [d]/Smbke-testing

—]e-



4. - are those software mistakes that occurred during the coding

pha.s;e; . AN
’ [a] Defects [b] Failures
[c] Errors [d] Bugs
o 5.'Funcfionél testing is a
' [a] Test design technique * [b] Test level
[c] SDLC Mgdel [d] Test Type

6. Which is not the right approach of incremental testing approach?
[a] Big bang approach ‘ [b] Top-down approach

fcl Functioﬁal incri;nination [d] Bottom-up approach

7. identifies current bottlenecks in your web or client/server,

application and verifies it meets or exceeds keyperforménce ‘measures.

[b] Load testing

[d] Reliability Testing

8. Which of the following situations, the Regression Testing is not performed?

[a] When project manager asks the perform

[a] Performance Testing
[c] Stress Testing

[b] When database system is changed
[c] When new functionality is introduced
[d] When system is installed on different hardware configuration than -

Previously tested

9. The is a graphical representation of your test plan.

[a] Test plan view
[c] Test plan graph

[b] Test plan tree
[d] Test plan hierarchy

., .

10. In size-oriented metrics, matrices are developed based on the
" [a] minimization of development schedule
- [b] for strategic purposes

[c] assessing project'quality on ongoing basis o
‘ [d] minimization of development schedule and assessing project”
quality on ongoing basis _
SECTION - B [5X 7=35]

Answer ALL the Quesﬁons. ’ |

1 1 a) Explain in detail about Quality, Quality assurance-and quality control ‘_ 7
in software teeting. ' ‘
[OR]

b) Write about verification and validation in software testing.

12. a) Write about black box testing?
_ [OR]
b) Describe about integration testing.

]

13. a) Explain functiona] testing versus non-functional testing.
| [OR]

b) Write about acceptance testing in system testing,

14. a) Explain writing test cases in performance testing.

[OR]
b) Discuss tools for performance testing.

o




19. Write notes on Cursors.

20. Discuvss on Discretibnarsf access control through Grant and Revoke

commands,

el

Programme : B.Sc. IT

Reg™o: L\ N\ NN NN NN\

(Affiliated to Madurai Kamaraj University)
(Accredited by NAAC with ‘B’ Grade)

END SEMESTER EXAMINATION — APRIL-2021

Date : 18.6.2021

Course Code: 17UITC41 Time: 2 pm. to 5 pm.
Course Title : Relational Database Max. Marks :75
Management Concept
SECTION—-A ' [10X1=10]

~ Answer ALL the Quesﬁons.’
' Choos-e the Correct Answer.
is a more abstract, high-level data model that has a good
description of the data is an enterprise.
[a] Abstract Data Model

[b] Relational Data Model
[c] Semantic Data Model

[d] Dynamic Data Model

. Which attributes are used to record information.?

[a] Relationship - * [b] Descriptive
[c] Instance [d] Ternary
. Representing data in a relational modelis
[a] Relation [b] Domain
- [c] Table | [d] Database
. A query is evaluated using _____of each input relation.
o] query (6] entity
[c] attribute T ' [d] instances
: ]

N



5. Through which evaluation strategy SQL query is evélua_ted?

[a] Triggers [b] Conceptual
[c] Query [d] Relational
6. ‘ is a database design technique that organises tables'in a manner that

reduces redundancy &dependency of data. -
[a] Triggering - | [b] Decompositions

[c] Normalization [d] Dependencies -

7. InPI'SQL, an error condition is called an o

[b] Trigger .

[d] Exception

[a] Cursor
[c] Packages
8. ____are schema objects that groups logically related P/SQL types,
| variables & sub programs

[a] Cursor [b] Trigger
el Packages - [d] Errors

9. ____isthe information that should not be disclosed to unauthorized users.
[2] Secrecy [b] Integrity | o
[c] Availability [d] Mechanism

10. ___ provides the foundation for modern authentication.
[a] Security [b] Decryption
[c] Authentication [d] Encryption

.

\ . SECTION — B BX7=35)

Answer ALL the Questions.
11. a) List out and Explain the advantages of DBMS
[OR]
b) Write notes on the three Maps of ER Model.

12. a) Describe how entity set is mapped to relation.
| ~ [OR]

b) Write notes on Tuple relational calculus

13. a) With suitable examples explain group BY and HAVING clauses
) . [OR] - .

b) Discuss on functional Debendenci_és with an example.
14. a) Write notes on procedure in PL/SQL.
, [OR]
. b) Explain Triggers in PL/SQL, |
15. a) Explain Access 'control.

[OR]

b) Write notes on multilevel relations and polyinstantiation.

SEE€TION - C [3X10=30]
Answer Any THREE Questions. ‘ | '
16. Explam concepiual design with ER model. !

17. Write notes on Integrity constraints over relations with exambles. |
18. Discuss the Nested Queries. ‘ B : |

e T
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c . (Affiliated to Madurai Kamaraj University)
(Accredited by NAAC with ‘B’ Grade)

END SEMESTER EXAMINATION - APRIL 2021

- Programme: B Sc. IT Date : 19.6.2021
Course Code: 17UITE61 - Time: 10 am to 1 pm.
Course Title : Introduction to Unified
Modeling Language Max. Marks :75
SECTION-A [10X1=10]

Answer ALL the Questions.

Choose the Correct Answer.

1. OMT Consists of Phases.
[a] 4 - ~~ _ [b]3
[c]2 [d] 6
2.A/An . model presented by data flow and constraints.
[a] object . [b] dynamic
[c] functional [d] static

3. OCL stands for
[a] Object Constraint Language
[b] Object Constant Language
[c] Object Constraint Loop
[d] Object Class Language

.

e —y



4 coupling involves the amount and complexity of messages between

components.
[b] interaction

[d] control

[a] content

[c] common
3. Use case models that can be summarized under which .of this category?
[2] use case diagram [b] use case déscription‘
[c] all of the mentioned [d] none of the mcntloned

6. What are the notations for the use case diagrams?

{a] use case [b] actor
[c] prototype [d] use case and actor
7. The noun phrase approach was proposed by '
[a] rebecca wirfs-Brock [b] rumbaugh
[¢] booch [d] jacobson
& _____ are an important mechanism for classifying objects.
[a] Classes [b] Object

[c] Use case [d] None of the mentioned

9. associations can be defined in terms of other associations.

[a) Ternary [b] Directed actions
[c] Implementation [d] Relevant
10. can be derived from scenario testing.
[a] Object [b] Class
[c] Attributes [d] Super

SECTION — B BXT =35\
Answer ALL the Questions.
11. a) Explain in detail abéut Rumbaugh modeling technique.
[OR] |
b) Give short note on object oriented software engmeermg

12. a) Explain the Static and Dynamic model.
[OR]

b) Descrxbe the use case dlagram with suitable examp]e

13. a) Write short note on Business Object Analysis.

[OR]
b) Explain the guidelines for developing effective documentation.
14. a) Explain the common class patterns approach.
[OR]
b) What are the guidelines for selecting candidate classes ﬁ'om the
relevant & fuzzy categories of classes?

15. a) Explain a-part-of-relationship.

[OR]
b) List the guidelines for identifying super-sub relationships.
SECTION - C [3X10=30]

Answer Any THREE Questions.
16. Briefly explain about Unified Approach.
17. Explain the UML class diagram.
18. Explain Developing Effective Documentation.
19. Brietly explain about C lasses, Responsibilities and collaboratlon
20. Explain about Associations,
=
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19. Explain about Call by value and Copy-Restore with exam ple.
20. Explain in detail about the characteristics of Peephole Optimization.

Programme : B.Sc. Information Technology Date: 19.6.2021
Course Code: 17UITE62, Time: 10 am.to 1 pm.
Course Title: Compiler Design Max. Marks :75

‘ SECTION - A [10X1=10]

Answer ALL the Questions.
Choose the Correct Answer.

1. Hierarchical Analysis is also called as

[a] Semantic Analysis [b] Process Analysis
[c] Syntax Analysis [d] Function Analysis
2. A syntax-directed definition uses a context-free grammar to specify the

syntactic structure of the

- [a] Output [b] Intefmcdiate Process
i ' [c] Syntax [d] Input
3. A grammar-oriented compiler technique is called as
) [a] Syntax Directed Translation [b] Token Generation
[c] Translation Directed [d] Lexical Directed Translation
4. A ' is a context-free grammar in which program fragments

called semantic actions are embedded within the right sides of productions.
[a] Translation Scheme [b] Semantic Analyser
[c] Lexical Analyzer [d] Token Generation

ollee 1
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5. The declarations section includes declarations of variables

constants and regular definitions.

[a] Manifest [b] Auxiliary
[c] Translation [d] Resultant
6. The output of Lex Compiler is . .
[a] Lex Specification [b] Lex Qutput .
- [d] Output Buffer

[c] Transition Table

type of error indicates an arithmetic expression with unbalanced

“____ !
parentheses. l ’ =
[a] Lexical [b] Syntactic
[c] Logical [d] Semantic
8. can be represented diagrammatically by a labelled directed |
graph called a transition graph. .
[a] DFA [b] NFA
[c]LEX [d] ANA ;
9. Two basic blocks are said to be if they compute the same set of -
expressions.
[2] same [b] equivalent
[c] live [d] effective

10. A transformation of a program is called if it can be

performed by looking only at the statements in a basic block.
[2] Vita] [b] Global
[c] Local [d] Sentinel

., -

11,

13.

SECTION — B
Ansvt'er ALL the Questions.

‘ a) Writé short notes on preprocessors and its functions.
[OR]
b) Write short notes on algorithm on simulating a DFA.

a) Comment on sentinels with diagram.
[OR]

b) Write about Parse Tree with its properties.

12.

a) Write short notes on the model of Lex Compiler.
; [OR]
b) What are the types of Threc-Address Statements?
14. a) Write about Danglmg Reference with an example.
| | [OR]
b) Write short notes on Error-Recovery Strategies.
15. a) Write about Next-Use' Information.
[OR] o ’ ~
b) DlSCUSS about the Primary Structure-preservmo Transformatlons
on basic blocks.
SECTION-C [3X10=30]
Answer Any THREE Questions. |
16. Write in detall about phases of a compiler.
17. Explain about YACC Parser Generator.
18. Write in detail about Nondeterministic and Determlnlstlc F uute
Automata. '
.
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Course Title : Operating System Concepts Max. Marks :75
SECTION -A [10X1=10]
Answer ALL the Questions.
Choose the Correct Answer.

1. The address of the next instruction to be executed by the current process is
provided by the .

[a] CPU Register [b] Program Counter

[c] Process Stack ‘[d] Pipe
2. To access the services of operating system, the interface is provided by .

[a] API ' [b] Library

[c] System Call [d] Assembly instructions

3. Semaphore is a/an to solve the critical section problem

[a] Hardware for a system [b] Program for a system
[c] Integer Variable [d] Special instruction

4. Concurrent access to shared data may result in
[a] Data consistency [b] Data inconsistency
[c] Data Security [d] Data [nsecurity

o



5. For sharable resources, Muqzal excluszon ..
[b] Not required

[2] is required _
[d] Must required

[c] May be ar May not be
6. Which of the following scheduling algorithms gives minimum average

waiting time?
[a] SJF
[c] Round Robbin

7. Which one of the followmg is the address generated by CPU?
[b] Logxcal Address

[d] Temporary Address

[b] FCES
[d] Priority

[al Physical Address
[c] Absolute-address

8. Swap space exists in
[b] Secondary -

[d] Botha & b

[a] Primary
" [e]CPU *
9. The information about all files is kept in -
» [b] Operating System -

[d] Both b &c
of some requests.
[b] Will cause Starvation

[a] Swap Space
tc] Separate Directory Structure
10. SSTF algorithm, like SJF
[a] May cause starvation
[c] Dose not cause Starvation [d] Cause aging
SECTION -B
Answer ALL the Questions.

[5 X 7 =35]

1 1.' a) Explain about operating system Architecture?
[OR]

b) Discuss about Inter process Communication?

.

a) Describe about Mutual Exclusion?

12.
o [OR]

b) Write about Monitors in detail?

13. a) Explam about Deadlock detection with their types?

[OR]
b) Discuss about Scheduling Criteria?
a) Explain about F ixed Partition Multiprogramming?
' ‘o [OR]
b) Explain about FIFO and LRU page Replacément algorithm with

14.

~

example? -
15. a) Why Disk scheduling is Necessary Discuss?
' [OR]

b) Describe about Free Space Management?

SECTION - C
Answer Any THREE Questions.

[3X10=30]

-

- 16. 'Explam in detail about Interrupts? =

17. Briefly explain about Software Solutions to the Mutual Exclusion -
Problem?

18. Discuss about any three Processor Schedulmg Algorithms with example"‘

19. Explain about Memory Hierarchy and Memory Management Strategies?

20. Discuss about FCFS SSTF and SCAN Disk schedulmg strategnes"
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interpolation method
[a] addition
[c]-difference

1. 2x+cosx—1=0is callqd a

- SECTION -A [10X 1=10]
Answer ALL the Questions.

Choose the Correct Answer.

~ [a] Transcendental equations [b] Algebraic equation
[c] Trigonometric equation [d] Simple equation

2. The order of convergence of the Newton — Rapson method is attest

(a] 0 [b]1
[c]2 , [d] 3
3. Stirling’s formula is the of gauss forward and gauss backward

[b] average

[d] multiplication

-
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..... (‘ - (] ) 0. y,._1)
" [a] Gauss backward interpolation method
[b] Gauss forward interpolation formula
[c] Stirling’s formula
[d] Inverse interpolation formula
1 6 2
5. The coefficient matrix A={ 4 1 1 |is
-3 1 7
[2] Diagonally dominant [b] Not diagonally dominant
[c] Rectangular matrix [d] Row matrix
6. Solve x+y=2; 2x+3y=5.
[a] x=Ly=1 [b] x=3,y=(-1)
{c]x=5,y=(—3) [d] x=2,0

. hr .
7. jf(x}d_x:ig_(yﬁ +y,)+2(y, +yz+...+y"_,)] isknownas___ .
x0 ‘

[2] Simpson’s
[b] Simpson’s 3/8" rule
[c] Trapezoidal rule

[d] Newton's cote’s quadrature formula

o,

9. 3, =¥, +—;—(kl +k,)isknownas

8. The error in Simpson’s onte third rule is order
[a] A [b] #
' [e] A | [d] »°

[a] Second order Runge —kutta formula
[b] Third order Runge — kutta formula
[c] Fourth order Runge — kutta formula
[d] Euler’s method |

10. In third order Runge — kutta formula, K3 is

[a] Bf (%0 %0) [b] hf(xo +2 ];')
[c] B (% +h 3 +') [d] Af (% +h 3, +h,)
SECTION-B [5§X7=3§]
Answer ALL the Questions. -

11. a) Find the real root of the equation cosx=3x—1correct to 4 decimal
places using successive approximation method

. [OR] e

b) Find the negative root of x* —2x+5=0correct to 3 places of decimals

by the Newton-Raphson method.
12, a) Using Gaussian elimination method solve the following

X+y+2z=9;,2x-3y+4z=13; 3x+4y+5z=40.
[OR]

el



b) Using gauss Jordan method solve the following 15. a) Using Taylor’s method solve ﬁ;y; =1+xy with y, =2 .Find (i) y(().“
S5x— 2y+3z 18; x+7y —3z=-22; 2x—y+6z= 22, . ]

(i), y=0.2
13.a) A function y= f(x) is given by the following t'c?ble. Find f 10.2 bya : [OR]

suitable formula.

X 0 1 2 3 4 | 5 6 -

b) Solve % ='1—-y y(O) = 0 using Euler’s method, Find y at x=0.1and

Y=f(x) | 176 | 185 | 194 | 203 izu 220 | 229 x =0.2. Compare the result with results of the exact solution.
i ~ | | .. SECTION - C [3X10=30]
Answer Any THREE Questions.

[OR]

b) Apply gauss backward interpolation formula to find y (25 ) for the 16. Find the real root lying between 1 and 2 of the equation x> —3x+1=0

followmg data. ‘ “upto 3 placeé of decimals by using regular — falsi method.
X | 20| 24 | 28 ) 32 17. Tabulate y = x* for x =2,3,4,5 and calculate the cube root of 10 correct
Y [2854 3162|3544 | 3992 " to three decimal places. - |
| . | o | 2 11
% | ' . ' 18. Find the inyerse of the matrix A=|3 2 3| using Gaursian method.
14. a) 'E\lvaluate J"sinxdx by Simpson’s % rule dividing the range into six - ‘ 1 49

0 10

e'qual’paxts.' ' ' A - | 19, Evaluate I lfx > by using i) Trapezoidal rule;: ii) Simpson one third rule.
[OR]

< ‘ 20. Compute y(O 1)and y(0.2) by Runge — Kutta method of 4™ order for the
b) Find Ey at x =51 from the following data. ' - '

differential equation. % =xy+y’, y(0)=1.

>

50 | 60 | 70 | 80 | 90
'Yl 19.96 | 36.65 | 58.81 | 77.21 | 94.61

T
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15. a) Discuss the in-s itu-ex-situ conservation methods.
o1) in-situ-ex-situ pemmuiled usLgU T LTGISTUY GBS S eNeurss.
; [owdevai]
b) Give an account of Hotspots and Cool spots.
<) Hotspots and Cool spofs &GS GBI TWRSHIS.

SECTION-C [3X10=30]

- Answer Any THREE Questions..

16. Write an eésé.y on ozone layer depletion.
@Bamei LIL6VLD PLLWISHH GHHH SLEDJ QUDIS.

17. Discuss the structure and functions of an ecosystem.

FHDIHENEV  LDENIL 605 SH\6T Semwoly wHpw CFueOUTE GBS alleums).

18. Explain various non conventional energy sources.
ucoCouml cuEMSWITEN LDJLF TTT Hmed GBS efleurl.

19. Explain various envigbnment laws followed in India.
@ib@wreled HDDIFLEO U Lise Gi&sl eleuf.

20. Explain different types of biodiversity.
LsoguTliTO\SH @ L6 InEE6T GHSS el6Nd &S
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SECTION —A [10 X1=10]

Answer ALL the Questions.
Choose the Correct Answer.

1. When was the environmental education group established in India?

[a] 1979 [b] 1969
[c] 1999 [d] 1953
@pFlwnellsd HBDIFLED @evell G(pwID ETUELITDS! OsT_mhslulLSi7
[=1] 1979 [=1] 1969
[&]1999  [F] 1953
2. Acid rain is caused by ) i
[a] Acidic pollutants [b] Fossil fuels

[c] Atmospheric [d] None of the above

SO0 DEMY -—=——== o HATEDS!. A .
[o] ouflev B &iSBMTED [@] ums LigIDEISEITED

(8] suefioesin_eo QeuliLBEN6D: o witeursd [FF] Goubmieil FHIOELEMED
3. Food chain is defined as _ T
[a] eating and being eaten
[c] bacteria and fungai
. o _guieFFREISe ————- Gl6iml U IWIBISSUILGE DS
[ 2_ewiuen WHEID 2 eweiuGae
[=] mistGeuni BHID oML SWITeNT
[@] urétefwr LHGID U Ehems
[7] Pemgiiue WHDHID 2_Muggluimenit

[b] producer and consumer
- [d] decomposer and producer

o .
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4. The term ecosystem was coined in 1935 by _ . 10. The first biosphere reserve declared in India in 1986 is -------mm-mmmeee-
[a] Odum [b] Smith ‘ [a] Gir forest [b] Nilgiris
[c] Darwin [d] Arthur Tansley ' [c] Palani hills [d] Agasthiyamalai
SMVSAPEL GTD GUTTHMNGSENW 1935-60 LILIGTLIBSINLIG] -----—-— -. . @G 1986-60 (psaipsedsy @bslureilsd opfleflsasiu’L
[e] @Lb [e] &5 utgsrssiul L. 2 ult Gasmend --——-—.
[8] Lrirefssr _ [F] @uftsi Lsiteroed [o1] &l sTES6 [=1] Beoaif
5. Non-renewable sources of energy is otherwise known as : [B] uped ’ [F] simerogluir wemeo
[a] non conventional energy source [b] conventional energy source , ’ -
[c] permanent source ° ' [d] none : SECTION -B [5 X7=35]
o . . - e . , Answer ALL the Questions.
Uplss QluieoT SUBBeL E6UUTHID SIMDE S LILIL6VTLD. _ :
(o] wyysFmr aMedss) SUBBED [e] wyyert afFsd) <ubBBed 11. a) Give a brief account on Environmental education in India
[R] Bensowimen = BM6O ‘ [F] Qeummieit g@EIdlevem6v. ' S0) @_rf,g,‘]u_umﬂsu SMDIFGP60 Sevall- Fml GWllL eemys.
6. Swachh Bharat Unnat Bharat Abhiyan is comes under [srvevgi]
[a] sanitization’ [b] public health b) Give an account of cloud bursting.
[c] waste from wealth [d] small savings scheme - | Q) BGwsQeuging umbm ellsufl.
SEUEF UMTSH o eldH UMTH HLID --—-m-— o — 6T & eUpLD.
[e1] smieno [«1] Qurg ssTsTyD 12. a) Briefly explain the importance of food chain.
(8] 16y BIFHPHBA . [F] A GaAILy 1 o) 2 eweyssndledufes @&ﬂm%mﬁmg, axleurl.
7. Pine trees is commonly found in forests [s1de0g]
[a] broad leaf forest [b] evergreen forest , b) Discuss the structural features of an ecosystem.
[c] needle forest ~  [d] deciduous forest » ) HLBHM6L SOl & myemilaEsit &U5H alleurs).
eusl WJD UTHATS @ STaTULGHBE? -
[] oEam BenedsnBase [«4] ugenTBTSSTGE s 13. a) Explain the need of waste material recycling.
[B] esfullensossT®a st [F] @emevwirasr@ssit 3) sfley wmjﬁgp,mélu_ﬂsm @5&1&@1@5@)@ afleu.
8. How many types of forests present in Tamil Nadu? [Sedevgi]
[a] 9 [b] 3 [c]6 [d]7 b) Give a short notes on non conventional energy sources.
BHOOHI 960 STELLGL S1BSES MBS 6155 men? ) iy smr aflFss) efss An Gy amys.
[s] 9 [=] 3 (8] 6 [#] 7 -
P e number of mega diversity covntries is present in the world 14. a) What is resource depletion and explain the root causes of the same
[a]9 [b] 6 [c] 12 [d] 15 D) QUSTID GV VWIS elsien? SyFHETE SMyeisst GHlHE eNeuf.
2 VEEH60 2 silel ofle UOEUITCLMES BIGSsI 6 HBemen? [owdevg1]
[&1] 9 [e] 6 (8] 12 [#] 15 b) Explain the effects of air pollution.
e &) STHY WISHUTLIQRITE HUGED allemeneyseT GmlsE eeu.
-3




19. a) List out the Routing Principles.
b) List out the various types of Routing. Explain each in detail.

20. Explain the message transfer using Simple Mail Transfer Protocol.
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SECTION-A
Answer ALL the Questions.

[10X 1=10]

Choose the Correct Answer.

1. The layer lies between the network layer and session layer.

[a] Physical [b] Data Link A‘

[c] Transport [d] Presentation

2. Asynchronoué Transmission have
[a] astartbit ° .
[c] both aand b

3.BSCisa’ protocol

[b] a stop bit
[d] all of the above

[a] character oriented

[c].byte-oriented

[b] bit- oriented
[d] count oriented
4. Which topology requires a multipoint connection?

[a] mesh - _ [b] bus
[c] star [d] ring

wl--



- SECTION -B » : BX7=35)

5. In FDDI, data normally travel on___ | , _ ‘ Answer ALL the Quesﬁogs.
[a] the primary ring ~ [b] the secondary ring 11. a) Explain the types of transmission modes.
[c] both rings , ‘ [d] neither ring ~ ' [OR]
6. Each DQDB bus is : B, _ ‘ b) Explain about twisted pairs.
* [a] unidirectional [b] bi-directional . - L
tC} conﬁected to the n 4  [dInoneof the above 12. a) Explain about Sliding Window Protocol.
7. Which of the following is not an internetworking device? . / ' ‘ IQR] - :
[a] bridge _ .[b].gateway ‘ " - b) What is network topology? Explain different types of network
i routes . ~ [d] all of the above | topologies. S
%. The client progran; S because it terminates after it has been. - | 13- ) Explain the concept of Token Ring (IEEE 802.5).
served. ‘ ) i _ _ | [QR]
[a] active [b] passive b) Explain in detail about SONET.
[c] finite [d}infinite 14. a) Explain the various fields of the TCP segment header.
9. Remote login can involve — : ‘ | ' " [OR]
[a] NVT o . [b] TELNET b) Short notes on UDP.
[c] TCP/IP [d] All -
10. When a message is senthsing SMTP____ UA are involved. ‘ 5. 2) What is Domain Name System? Explain. -
[a] only one [b] only two | ~ [OR] -
[c] only three [d] at least two . -b) Explain about Simple Network Management Protocol. -
SECTION - C [3X10=30]
Answer Any THREE Questions. »
16. Descnbe OSI Reference Model. )
, 17. Discuss the approaches used for error control in networkmg

18. Illustrate,the various switching techniques used in WAN
w3
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- SECTION-A [10X1= 10]
Answer ALL the Questions. '
Choose the Correct Answer.
1. Whlch Feature of OOP 111ustrated the code reusablhty”
[a] Polymorphlsm : - [b] Abstraction
[c] Encapsulatxon - [d] Inheritance
- 2. Overloaded ﬁmctlons are _ |
[a] very long functions that can hardly run
[b] one functlon contalnmg another one or more functions inside it

[c] two or more functions w1th the same name but different number of

parameters or type -
[d] very long functxons .
3. What is default access specxﬁer for data members or member functlons
~ declared within a class without any specxﬁer, in C++?
[a] Private [b] Protected
[c] Public _ [d] Depends on compiler
: R T
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4. Which among the following is called first, automatically, whenever an

object is created?
‘ [b] Constructor

[a] Class
[c] New [d] Trigger

S. An operator function is created using . keyword.
{a] iterator [b] allocator

{c] constructor [d] operator

6. A derived class with only one base class is called inheritance.
[a] single [b] multiple '
{c] multilevel [d] hierarchical

7. C++ supports run time polymorphism with the ‘help of virtual functions, which is

calied binding,
fa] dynamic [b] run time
[c] early binding [d] static

8. The unformatted input functions are handled by
[2] ostream class [b] instream class
[d] bufstream class

9. Which of the following is not used as a file opening mode?

[c] istream class
[2] ios::trunc [b] ios::binary
[c] ios::in [d] ios::ate
10. What i§ meant by the template parameter?

[a] It can be used to pass a type as an argument

[b] It can be used to evaluate a type

[c] It can of no return type

[d] It can be used to delete a type

L, .

SECTION-B
Answer ALL the Questions.

15X 7 =35)

11. a) Explain the structure of a C++ program.
[OR]
'b) What i§ function overloading? Give examples.
12. a) How to specify a class in C++?
L [OR]
b) What is a constructor? List some of the special properties of
coﬁstructor function. -
13. a) What is Operator Overloading?
| [OR]
b) Explain single inheritance with an example.
14. a) Explain arrays of pointers in C++.
| ~ [oR]
b) Write short notes on Vo strCAm clz;sses.
15. a) What are the classes used for File Stream Operations?
[OR]
b) Explain with example, how C]éss templates are implemented?
SECTION - C [3X10=30]
Answer Any THREE Questions.
16. Describe any five basic concepts of Oi)ject Oriented Programming.
17. Illustrate the concept of Multiple Constructors in a class.
18. Discuss about Overloading Unary Operators in C++ with an example.
19. Explain in detail about virtual function and polymorphism with exzimpie.m
20. How to Open multiple Files using Open() functibn in C++?
= o 4



